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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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31 A 41 A 51 D
32 C 42 D 52 C
33 D 43 C 53 B
34 C 44 B 54 B
35 A 45 A 55 D
36 D 46 56 A
37 A 47 A 57 A
38 C 48 C 58 A
39 B 49 D 59 C
40 A 50 C 60 B
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Options:

1) AR AQ I8l

2) 64I6@ A0 gRQ8!

3) @OR dQ gl

4) 6JIG@- TR AQ gRa8!

Correct Answer: 1) 4Q® dQ JRQ8l
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Options:

1) sea- €@, ward-2lQ®

2) sea-2IQ®, ward-€)@

3) se-()@, award-2Q®
4) se-2IQ®, award-€)@

Correct Answer: 1) sea- ()@, ward-2IQ®

Candidate Answer: 1) sea- ¢J@, ward-2IQ®
[echofworld.In

QID : 643 - 3EIR6R 2jQI 6RAFRR REREIE FIQ 676 QAR G261 ARRIN?

Options:
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Correct Answer: 4) QJ6QIQ aeq|

Candidate Answer: 4) QdeQlq 974|

QID : 644 - 671l QA1 661N 6QAIFITAY 266, 666 6AIR AII' OI'Q ORI IRl 01 AITER 6AGF 68 R} AR QST |
FeMee FrIQ 676 6@ JOA R6EQS 6N el 661G @ 21667

Options:

1) QQ8l

2) 6QIIFQNY
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4) 629Q¢

Correct Answer: 2) 6QIFIFIQRY

Candidate Answer: 2) 6di¢]IFI9Rg
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Options:

1) AARS - AgoR GO

2) 9q®

3) QgleIe

4) Q0. QI QUQ

Correct Answer: 1) QIFIR® - APgoR §O

Candidate Answer: 2) Q@
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Options:
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Correct Answer: 3) GIGPRIQ 67162Q

Candidate Answer: 2) T@1Q 6¢1120 639100
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Options:
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Correct Answer: 4) 4609 F12/9

Candidate Answer: 4) g6QQ 7219
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2) QRIIRIE QUL

3) 6alQIRIe AQIG

4) IRQ 60199 64RIAG

Correct Answer: 3) 66IQ1RI2l AIQIF

Candidate Answer: 2) QRIIRIel QU
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Correct Answer: 1) (%6l @1QRE66RT QAUEQ Q4&P

Candidate Answer: 1) G54l R1QR6EIRT AUEQ Q4&P
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Options:
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3) ARG Be,
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Correct Answer: 2) 2@QaQ 2e2IQY

Page |10



Page |11

QID : 651 - FMEIS QHI6l QAR T¢| ARIRG 266 | AQOIPAIP UIPR VG AQY | AR AR AR RE6 YR IR
Q9 RJQI 6RIRINER J696 @AM | 64 608 FQUARINE UIR 2IRFE FARIEA AV Z6m T QIF AR 61
QUM IQ° QPO GO AIFG FEIQI AAURRI QEIeIR! AIFLYER | OIF R JRINQ ARFARP gF QA A 1Q° QY
eI 6l1Q1 6Q8IRIER RITER | AIQ 64gFQ ARINE AR LI°Q FAR! A6Q, 64 2RY Y@ FACY CIRCIER,
60610168 Q 9¢6 AIFE1 3G AQI AIRERI IQ° U6Q Q619 ARG GIMGIER | 6AFIRE IR, 630! FIFR
ARQI0 QU6R T6RL KRR AIRA ARALEM IQ° I6PR IR UIR 2IRdE fA2j6R | IO O ASIRgER @ 6
QIGER Q61 GIRIF, IQ° 6Q QAR 6Q6M @ 60 TR UIQ CIRIP | 64 FREM &, 6AVTR ARIER 64 IR AINAJAR
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2) OIFQ @Q0R gl |

3) 64 Y@ ANERIAY ARLEM |

4) F6901 64 JRIFE AR QILRIER |

R e

Correct Answer: 4) Q690! 6a QIO QAR QIP2EM |

Candidate Answer: 4) Q690I§ 60 JRIFE RAQIQ IF6R |

QID : 652 - HYREE Qisl ATER J4| 2RIAE 266 | AQOIAP AR ATE ALY | AR AR FALR! R68 YO 9@
Q9 RJQI 6RIRINER J69¢ AR | 69 608 FQUARINE UIR 2IRTE FARIEA VA Z6m T OIF AR 61
QUM I9° Q@O GO AIFG REIQI AR QEieIQ! RIFLYER | OIF R JRINQ ARFAR 9T A RY IQ° QY
JRIQ 611 6Q6IRIEA RIGER | FIR 6AgEQ ARIQE AL AI°Q *AR A6Q, 64 ARY YL UG SIRCIER,
64610I6Q 9IQ gge aiag Q7 Rl AIRRJAI IQ° A6Q Q611RY TGP CIRGIER | CARINS QIQl, F6R0! Sl
RNYIN, QTR T6LL QAR 2R AR NQ° YRR IR UIR 2IRTE QM | I OIF JoIRgem @ 6
QIgI6R R4l QIRIP, \Ie° 6Q QAR 6Q6M @ 6d TR IR PIRIF | 64 FP6R &, 6ATAR ARIER 64 IR AIAAIAR
6QIAIR6R 620IQ 2Idem ¥Q° AIFIRY UIR 2ITE @A26m | I SR J4 6RIRYRI 99° 6d ARG QL FAQIQ

QIFEER | 6d 6RR AR QIR Il AR 6AINIR AR @R 21Te6R, 616 9 FEQIg 21TRgER | 6alad R
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Q2 AR ARVIEIER, 6QRINER FERVIFOIQ AR AR EAIFR Q8N Q6] 266 ?
Options:

1) goQ 04l

2) 4Q1 gleR

3) o glee

4) gQéll gIee

Correct Answer: 2) Q1gIQ@
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QID : 653 - AREE Qs QAR G 2RIAS 266 | QYOG URA AVE ALY | AR ARRUIP FFRRI P66 JOR 1@
Q0 RJQ! 6RIRINER J6R6l AREM | 64 648 FRUARINE UIR 2IRVE FAQIER AVF 2em A CIF AR 61
QU2 IQ° QE gEN AIAG FEQI AR QEiRIR! AQLYER | OIF QY JRIAR ARFAR IF Q RY 9e° QY
JeIa 61Q1 626IRIER RITER | AIQ 64gFQ ARINE QIER AIPQ FAR! T6Q, 64 ARY IR FUCQ SINGIER,
60610168 GIQ 9ge AIFgT 9 @Al AIRYRI IQ° J6Q 61IRG ARG CIRGIER | 6AAINE QIBl, F620! FIFQ
2RQI0, AA6Q A6 AR 2AIQF FRAZEM IQ° AR JRRF UIR A0TE @R | JO9R 01 JCIRZER @ 64
QIGR6R Q61 GIRIY, \I9° 64 QAR 6R6M @ 64 IR IR PIRIF | 64 V6 @, AT ARIER 6d IR AR
6QIFIRER 6Q0I 2ITL6M Q° AIFIRY AR 2A10TE QA6 | SIF SIRAI Y4 6RIRRIMI IQ° 64 ARG Q@ KAQIQ

QIFZER | 64 6QQR AR QLA AR AR 6AITIQ ARRUIR @] 2TejeR, 67161d 99 FEQIQ 21TRg6R | 61T FR
@ @8 69 6QIRINQ QIR GI6M |

RIPR 6AIR RER ARG AR Gl QUG Jog oM AIRER
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1) QIQ6I 64 QR AUY! VIFLER |

2) QIQE 6a QIQ 96 FAQI AR AR FLER |

3) QIR8 6xl61d RRA FEQI AIR 698 Q4G AP FLY6R |

4) QIQ8 Q1§ REIR 2JQ 2J6R | )
24 /72 A

Correct Answer: 3) Q16 621613 FRT FEQI Alel 632 Q4 AR RLY6R |

Candidate Answer: 1) @106l 6 QR @UQ! QIQ’Z{G@ |

QID : 654 - ACREE Qs QAR J¢| 2RIAS 266 | QYOS URR AVE ALY | AR ARUIP FFRQI R661 JOR 9@
Q9 AU 6RIRINER J6R6 FREM | 6d 698 FPARINEF UIR 2IRTE FAQIER AVE 26 A CIF AR 61
QUQ2EM \IQ° QE GO AIAG FEIQI QAR QEIRIR! AQLYER | OIF FRQ JRIAR ARFAR I A RY 9e° QY
JeIa 6191 626IRIER RIGER | FIQ 64gF ARINE QIER AIPQ KRR T6Q, 64 ARY IR FQUCQ CINIER,
60610168 GIQ 9ge AIFg ¥ @Al AIRYRI IQ° A6Q 1IRY ARG CIRGIER | 6AAIRE IR, F620! AIFQ
2RO, AT6Q A6 AR QA FRALEM IQ° AR JRRAF UIR 2eTE @R | I8 01 A0IRgER @ 64
QIZ6R 6l PIRIF, I° 64 QAR 6Q6M @ 6d FRY) UL FIRIF | 64 PR B, 6AVER ARIER 6d IR AIAUAILR
6QIFIRER 6401 2ITe6M 9Q° AIFIRY AR 2106 QAER | SIF CIRAI Y4 6RIRRMI 9Q° 6d RRY Q@ *AQIQ

QIFZER | 64 6QQR QR LA AR AR AITIQ AR @] 2TejsR, 67161d 99 FEIQIQ 21TRgER | 6@1T PR
@ @8 6 6QIRIRQ QIR GI6M |

RIER Jor RER A8 @ @8 6IRINQ ARIREM?

Options:

1) QI8 60 AR AR 6x16d FRA AIRER R |

2) RIQ8l Gl Ad 26 QIR |

3) QIQ61 64 J6Q FEQI AIR AYR 6RR2Y6M |

4) Q108 ARIRE RAQI AR FRYYR! AP IR F6x0IFA MG MRLIRY PRI IR 6a 6A0Ig ATY6R |

Correct Answer: 4) QIQ8 ARIQE AP ARIL AR P IR F6RCIFA MG Q1LIAY PRI AR 6Q
640IQ 21526 |
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QID : 655 - G Qicl AT6R g¢) ARIRE 266 | AYOIEAY URR ATE AP | AR ARRIIP FRRJQ! P66l YR 16
Q9 QJQI 6QIRINER J6Q6 AR6M | 69 698 FPURINE UIR RS PRI AV Zem AN CIF AR 6QIM
QAUQEYEM 9Q° QE G AIFIG QEIQI AR QR AIQEER | OIF TR JFINQ ARLAR IS Q R Ie° IQY
JeIQ 61Q1 6Q6IRRIER RITER | FIY 6AgEY ARIQE Q6L APQ *AR T6Q, 6d 2RY IQ TGP OIMGIER,
60Q0I6Q IQ gge Qing Q8 RQl AIQGRI IQ° J6Q 26119g FAUCF SIRGIER | 6AFIRE QIAl, FERF! GIFQ
2ARYIL AU6Q 62 PRI 2107 FRAZYEM IQ° I6AR JRRRE UIR 2IRdE FAZ6R | J99R Olf JoIRgeR @ 64
QIFQ6R Q6 QIRIF, \9Q° 64 QAR 6REM & 6d FRF AUIR PIRIF | 69 FPER @, FAVAR ARIER 6d IR QAR
6QITIRER 6401 2Idejem \9Q° AIFIRY AR 2IRdE @R2Em | OIF CIRAI J&l IRRI 9e° 6d B Q0 FAQIQ
QIPE6M | 69 60AR QR QIQLIAQ ARl AR 6AITIR IR @7 21TeER, 60161d Qg FEQIQ 21TReER | 6alad FRT
P @81 6Q 6QIRIRQ QIR CI6M |

Q2 QIR2jQI AYEIAIQ 66T\ 6IR 66IRG, QIR QA" RQ FANICIEEARIP 61 2166 |

Options:

- Techofworld.In

2) 6d
3) g8eie
4) Ae¢

Correct Answer: 4) Q¢

Candidate Answer: 4) 90¢

QID : 656 - 94| AJ6Q J@ AIGI 2ARIRC | KIITY AP IQ° AL JFYPIR AaR Q2g|

Q1R 617 ARG

6€1l 2IFI6QR

¢ 671 268 IR PR ARG

66166 ¢8Il AR @ ARR

6€1l 26Q

¢ 621 2UFY6R 66166 EQEN AIRE
FRIQIGQ 48 R ARSI ARG

6¢1l 2IF6R

¢ 661 2Y6Q 66166 ARIAIGR AR

A1 “I@ PQ1 A" 69IM @F FIDR K88F?
Options:

1) QIGER &R

2) PQ1GER AR 9Q° QG

3) RQ1GER 66115 Tal6Q 616 F6Q

4) PQ1geR 949

Correct Answer: 3) QQ1ge® 66lIGN Q6l6Q 616 R6Q
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QID : 657 - g¢| A¢)6Q 4OR @F0I 2RIAG | KISITY AQQ Ie° AIRES 9ggeaa aaa dag |

QQ1JQ &If AIR@

6¢1l 2IFI6R

¢ 6711 260 9@ 941 AIRS

661166 Q8! AR ¢d AIR@

6¢1 2IFI6R

¢ 661 2Y6R 66166 REl AIRE
FRIAIQ 98 QR ARSI AIRE

6¢1l 2IFI6R

¢ 641l 2ICY6R 66166 ARG ARG

@0 QIR P27 ¢d 9@ &adl aR"?

- Techofworld.In

1) gd QI8 6CICRI AR G121 6Q6IRR! AR
2) QIQ61 ¢4 QI8 a@

3) QI KRN AT Q6Q

4) QI 971gaIN

Correct Answer: 1) ¢d QI 6I6@! AQ G121 626IRR AR

Candidate Answer: 3) 2| H0@Q AT F6Q

QID : 658 - g¢| AFl6Q 4@ AFS! ARG | FFGIEY ARG Ie° FPRES JFIPna aaa dag|

Q1 dQ 6IF ARE

6¢1l 2IN6R

¢ 6¢1l 2IY6R 9@ AR ARE

66166 ©Q6ll AR ¢d RS

6¢1l 21N6Q

¢ 6¢1 2ICY6Q 66166 R8N ARG
AR JQ QR ARSI AIRE

6¢1l 21N6Q

¢ 661 2IY6R 66166 FRIAITIR ARG

@0 AIER A7 AR JIRQI “I@ ALIITR AR"?
Options:

1) FRIQITIRER RRE 218

2) FRIQIGQGFRER Réi2l AIE
3) ARIAICRGER §Q ¢

4) ARIAITIAGER QORAN
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Correct Answer: 3) ¢QIAIGQGER ¢ @Q

Candidate Answer: 3) FQIQIGIQAGER ¢ @@

QID : 659 - ¢ RF6Q Joa @J0I IR | AIVITY ALY I9° AL JEgeaa aar Bag|

Q1 dQ 6Ig AIR]

6¢1 2lIFI6R

¢ 671 2060 9@ PR ARG

6666 €8l IR ¢d ARG

6¢1 2lIFI6R

¢ 611 2)6Q 66166 R8I ARG
FRIQIGIQ 98 QR ARSI RS

6¢1l 21N6Q

¢ 6711 2I)6Q 66166 FRIAITIR ARG

PO0IQ A6 &'81?

st Techofworld.lr

1) QIR Q86T

2) QI9RE ¢d 2QEQ KRR

3) QYPREIE 66lI6e AFIQYl AFRIR *ARY
4) HFRES Qg 26

Correct Answer: 2) QY@R6& ¢d 2909 @QRQ

Candidate Answer: 2) Q@R ¢d 2QQQ @QRQ

QID : 660 - g¢] AFJ6Q @ FITI 2RIGE | ICITY ARY \I° AL JGYPna aaa Gaig |

QQ1dQ &g A&

6¢1l 2I6Q

¢ 661 2IY6Q 9@ AT AR

6666 €8l IR ¢d ARG

6¢1l 2I6Q

¢ 6711 2)6Q 66166 Q8! AR
FRIQIGIQ JQ QR AR RS

6¢1l 2IN6Q

¢ 661 2lIFI6R 66166 ARIAITR AIRE

6RG B2 @8 "6RRIREETAN" 6RELJEA ?
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Options:
1) QrIRIE QUL

2) FR1Q 60119 64RIAT
3) ARGeR QUG

4) g6aQ A9I§

Correct Answer: 2) TQ1Q 67190 640100

Candidate Answer: 2) FQ1Q 67190 6QQI00

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option '‘No Error'.

"We are taking this / situation seriously and the / offenders will be punishing”

== Techofworld.In

1) We are taking this

2) situation seriously and the
3) offenders will be punishing
4) No Error

Correct Answer: 3) offenders will be punishing

Candidate Answer: 2) situation seriously and the

QID : 662 - Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the sentence is
correct as given.

You may (also printed the sheet) by right clicking the sheet and selecting "Print"
Options:

1) also print the sheet

2) also prints the sheet

3) also print an sheets
4) No correction required

Correct Answer: 1) also print the sheet
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14-Aug-2019 Shift-2™

QID : 791 - ‘| ALINIF6R 69, U4 ¥e° 88 08 TYEFR 62¢SIQ VRAN I’ 1T ISER 624 9T JAT 4LES 621087?

s 1€chofworld.|
e | SCNOTWOIA. 1IN
2)qaI8 Qe

3) Jaqie 98

4) AAUTEINIR GRIR2AR G

Correct Answer: 2) QI3 99

Candidate Answer: 1) JQ@18@ 98

QID : 792 - 0 @8Q 92 §94AI8 9948 Qg 26a 2Ia ARIGER FIAGEQ Ige G2 A 9§ aldall
Options:

1) 28igd

2) qRul

3) QeRdy

4) Redal

Correct Answer: 3) Q6244

Candidate Answer: 4) 5644

Eligibility Test http://202.191.140.165/otetmay 19/ccgsa_sep19/proc

QID : 793 - F96Q 676 GRIAR QN GAIR FAINIRT G121 F26 @aF | §67 9'a 68Iga?

Options:

- Techofworld.In

2) 641G Q1Y

3) GOR QIRY

4) 949 90R QY

Correct Answer: 4) g4§ 9o@ @Iy

Candidate Answer: 4) 9§ 4o Qia4

QID : 794 - ) 98 91N §NIAIR T9E Fag
QIRIFIRN 62AI6R FeR GIIGAIR A8 @GR A TVALGER Q81 AYE 6AAGR 2BRYEFR, 69, AMYEFS IGA 968 |

Options:

1) 69-Q09 988
2) QUQ-Q0Q 988G
3) 6g-67 9ad

4) QUQ-69 983

Correct Answer: 1) ©g-00Q 983

Candidate Answer: 1) ©9-Q0Q 989

QID : 795 - F64I9 634 RR6! RIRQ ARIFIY QAT 1Al AYS ?



. I N\ INJILIVVYV UL INA
Options:

—

2
3
4

) @9
) QST

) el

) QACAUB AL

Correct Answer: 4) QJ6QIx ANQ

Candidate Answer: 4) QJ6QIT ANQ

QID : 796 - &4 FRI6Q RIS & QIEQ VS ?
Options:

1) 60K 71212

2) IRQ 612R 6ARUAG

)

)
3) AFRIQ 6712Q
4) 69191Q12l A19IZ

Correct Answer: 3) Q@RIQ 6719Q

Candidate Answer: 3) Q&FlRIQ 6712Q

QID : 797 - 60K 1213 6RQ H9Q QITNQ JoIFl ULR
Options:

1) QAg
2) QQI@
3) AqIQ
4) Q21

Page |18
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Correct Answer: 3) QqIQ
Candidate Answer: 1) Q9%
Techofworld.In
QID : 798 - 629 RUKYIA IR 19746Q 69IAIRIR ARIEF KIF1A0 YOI SRR ?
Options:

1
2
3
4

e A3
QIS AGIR
G|

9 QIR

— S S S

Correct Answer: 2) <G agI@

Candidate Answer: 2) <G qgI1®

QID : 799 - AVGG1A 62K19 ATSY IR JAUA Y6AK 218G FIFQ 699 QAN AIR FAARYRI:
Options:

1) QRIEQE16Q A/

2) IR ALY

3) QRIS SaQ
4) Q1R6dR

Correct Answer: 4) Q1e6da
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QID : 800 - I1Q 6712 6ARIATF @4 “6F8IQ 651AQ " A19R 6QRYER ?

==~ Techofworld.In

1) GAAQI QAQIR
2) GRQ. 69. §. RG]
3) GQQ. AIRIA

4) QRIS QIR

Correct Answer: 2) Q9. 6. 8. 9R6]

Candidate Answer: 2) GQQ. 6. &. §AeQ

QID : 801 - Fq6Q GUIF FAININYQ ANIATG 0QF Ie° 87 949Fea aaa Jag!

¢aQIQ A1 AIER Y9I AAR Qa4 60Y 62R2RI | T6R FFAIR AYI 92 6aNE CHINI @ 62IR TR | ARG FATA KRR YN 2ARAIGER Y9I AR Q'E
62013 6Q @asal

921 R A6QIIE 630 QINIRLIO CARIQ 6RHIAIALAI- 6Q CIRR QIFEEK; G2l QAIPEER; T2UIQ HAI 62agen| BT B RAER YA 1Q° agaRI |
6Q6R 6R6R 6 6AGANI | F61 AQTUITI 624! | 6 EAYYSI 6I6R F66 A AT GIF AACR 2 694 62102 5O B6eR 676R |

638 QIGeq goaI 505 6RYAI IQ° ACH AT YRR ANIRRI| B 6ICTEIER 6 AITER TREIQ 6AINAIQ AR, 62 92 AR YIIR! 9 69, SR
QROIR 9YIR IR AVYLNEA @ 928 | 121 A6R FIA AYIR FRAN I CTFA 6999 FEAF AAA 629IQ ANA CARAINYR | 6Q YR AARAITER
2RI A0 206 28, SN 98F | 6ANI6R R AIRBS

60606967 62 AR 6RI0R1 AEAQ AIP AAINA, CAYRI 662 AACA FO GQ! 62IE- 6AITRER GI'A AN G 06 AT AVACA CAHIAIGE 9e° IR

ANA Y QIGF| 6Q §AB IAAQ AFAI | 6AAIEH QGRS 9 0Qd AN VARG EAYR! AVILE AYER |

78 G2 Q69181 6615\ 80 6RYQI UBER YIAIR AEXEY @'€ gRI?
Options:

1) @30l SIFR 9 62919 VIR

2) 95QI GIF ALIAY FARIY VIFERI

3) goaI BIg B9 AITRIG SIFER!

4) 6Q 629F OIF QUIEC FARI SIFER

Correct Answer: 1) Q&I GIFQ 99 62919 SIFLRI

»r Eligibility Test http://202.191.140.165/otetmay 19/ccgsa_sep19/process.php?appi

Candidate Answer: 1) @3Ql QIR QF 62919 9IF2A

Techofworld.In

QID : 802 - 37J6Q 9QIR SAUAINYS! AXIETY 9P ¥ B 999Eea eaa dagl

¢arIg Y0916 Q96 QI I9A 984 624 62agRl | 6R FPAIR AQ! @2 637F 6HIRI @ 621 ARl QIRE F2TQ FEA IR 2ARAKER IR A6R 'E
6268 62 aasal

92 99 V6RIFIE 6TaRe QINIARIT CARIR CAHIAIRZAI- 62 TR AIFYER; G2l QIPEES; SRAIY ¢AI 62eYsa | FAT 816 AT6A 2RI I AgeRl |
6Q6R 6967 6Q AR | T67 AYUIT 6291 | 62 6ARQ! 662 V66 AR AR GIS A A 6AS! 621Q2SN 5O 9680 6364l

6232 QIFEa QORI FOT1 6RYAI IS AIGET ACH SINEA ANRR | I 6ICTEER 62 ATEA FBAIQ 64IRSIQ A, 62 92 AW IR A 62, SI'A
Q900 92IR I2IQ AVIFFEA ¢ 925 | 121 A6 @FA AYYR SIRAN ¥ 6TA 699G FEAR AR 6291 A C2RANYR| 62 6 AAGAFER
231 99T ANINER 2T, SINI ABE| 6”7IER SR AIRSB |

6UED6R6R 6Q G 62101 LAY AIQ AR, CRYR 60_ AAER FO AL C2IE- 6AITREA BI'A PN B 0L€I TS ATAER CAHIAINT 9e° YR

Q10 |t QIFE | 62 9aB Y2IQ AFRAI | 62AIER AR 9 0RF ANYS TAIAY CRAYR! 2AMILS Y6

20QIER G2 6181 (F2)Q FoAS QIdi 9’8 gI?
Options:

1) 6 QIQR QIgYeR |

2) g4QI AIR 92 HAIER 69gsR

3) 6Q G AAY QG I° 6AYIER FTIRYEA |

4) QA6AI8 FIQ ANY

Correct Answer: 3) 62 89 QA9 991 98° 6AYRIER *TIRZ6R |

Candidate Answer: 4) QJ6aI9 (IQ AAS
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QID : 803 - 316Q 9UIR RAIAINYQ! AXI°ATY ALF 19 77 999Eea eaa fag|

RIQ FAAIG AI6R Y3 ANR 994 624 62aYR! | F6r @TAIR AGI 92 6AT cHINI @ 621 ATRI| QIRE TATR SR YN AARAIGER YS! T6R V'
6208 6Q @aeal

Q2 9L ACRIAIT 6T9AR QIIARIA CARIQ CAHAINA- 62 VIS AIFYSH; G2l QIFYSH; TG Al RRYSA| FAT BI6 RACA AGANI 9 AgRRI|
6R6R 66w 6Q 6NY2ARI | T6r AYIUIGT 62R! | 6Q ERYIYRI 6I6R V66 QAQ AT CIF LISQ A EAS 62IRYRI 5O 869Q 6r6a |

623 QIR @Eal 05N 6AYAI IS ACE ACT FIRER ANARA | G CACHEIER 62 AITER FBAIY 68IARI AN, 63 §F NI QIR @RI 6, SI'A

Q90OIR g9IQ Y20 AAYLNER @ A28 12 A6Q BRI RGN SIRGN YL 6TAR 6999 RS 2IAA 629IR ANA C2RAIRYR | 6Q 6RYR 2ARAIFER
QI AQT 2ANIQER 2T, SN A8F | 6QAIER OIR AIRST

66EERER 64 AR 6RI0A1 RPAQ AIQ AN, YN 662 AAEA O AR 62I9F- 6AITAER 6'A FIA B 0REI AATTE AVAEA CAHIAIRT Q° YR

AR1D YN QIGE| 6Q as 121G AT 63AIER ARG 9 0d OIS VARRY EQYR AUILC AYER |

F6RI9 AR 6QET “QRI" aea gFaR?

™ Techofworld.In

1) 209

2) 2Q6QNR
3) Qehe
4) @39Q

Correct Answer: 2) 2Q6qld

Candidate Answer: 2) 296k

Eligibility Test http://202.191.140.165/otetmay 19/ccgsa_sep19/process.php?appid:

QID : 804 - 3J6Q IR QAUAIRYS AUI°ETY AL 9e° B g99eeq aar f2g|

eI FAIC AR Rl AAR 984 62Y ceagRl | F6R @TAIR AQ! 2F 627G 6HIRI @ 621 AGAIl QIRd TATA FER YA AARAIYER QI VEQ X'
6298 6Q eaeal

Q2 gL ACRINIT 6T QTIARIA CARIQ CAHAINYAN- 62 VIAS AFYSH; 2 QIFYSH; RAUG A PRYSA| F2AT SI6 AACA AN 9 AgeAl|
6Q6R 626R 69 6RY2RI | B6R AYIUIG 62R| 6Q ERYIYR! 66 F6E QA AL CIF ISR A EASH 62IRYRI FO 262R 6R6a |

6200 QIER QEAI GOSN 6RYRAI IS° ACH ACH VIRER ALINA| B3 CIACEEIER 62 AR FTAIQ C8IRIQ AR, 6Q 9@ AU IR QA 6, SI'A

Q90IQ g9IR Y20 AVYANER ¢ 927 12 T6Q BRI ARIYR SRGR! 1L TR 699Q FEAE ARA 629IQ ANA 62ARAIRYR| 6 6RYR 2ARAITER
2Q1 0% ANIRER AT, OIN AGT| 6QAIER 9N AIRST|

66RERER 64 AR 6RI0A1 REAQ QIR AR, CAYR 662 AAER F0 AR 62INT- CAITRER SI'A FIA B 0REI AATTE ATAEA CAHIAIRT IQ° YR

1A A QIR | 6Q GaB 121G AFAI| 63AIER AR\ 9 0d A4S VALY EAYR AILC AYER |

R6AI8 FRIP 6RE G FNIFER NLPS ERINYS! ‘AR 621" 2A A1 FAR1?

= Techofworld.In

1) @
2) goR
3) Gl
4) ¢I@

Correct Answer: 4) @@
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QID : 805 - §9J6a QIR QRUAIRRQ! IQMIPEEG Q9P Ie° 74 949Eea aaa dag!

FARIQ FANS AIGER YR VAR 84 69 620 | TR FFAR AR 9F 62AB 68N @ 621 AGYA | ARG FAFQ FRR YA AAAAGER Y AR V'S
6208 62 Qa6a |

Q2 g9 A6QINIT 639R0 QINIARIA FARIQ CRNININYA- 62 PO QIFAUSA; Rl AIFYER; SRR Al CeaRsa | 2T B16 AACR IQAUR 99° AGaR |
6Q6R 6267 6 6RYRI| G6q AQIUTI 62RI| 62 ERY2SI 6I6R FEE RARQ LR CIF PR 2| ENSHI 62IRSYSI B0 TR 6R6M |

6930 1060 QORI FOTI YR 1Q° ACE ACH FIRER AR @g 6ACTERER 62 AITER 384G 6AIRRIG IR, 62 L VIFER FIER! AR 62, SR
Q901 92IQ Y2IQ AVIARER @ A2F | 121 96Q @A FRIYR FIRGN! Ya° TG 699 FEAR 2GR 62R1Q ANA 6LIVANAR | 6Q QYR 2AAAIFER
QI IOF 2RQ6A 2T, CIMl AG | 6Q7I6R SIR AIRSE |

60606967 6 §@ 61001 GiGaQ AIQ ARG, QYR 60 AA6A FO GIQI 62IAR- 65156 oI'a AIf 8 0REI AARTE AVAER CAIAIRE IQ° IgYsa

Q910 At QT | 6 GRS 2IQ AN 6AAIER AAREN 9 0QF ALIE NG ENYS! AMILS QYER |

2 GIQ4rE G6gRIER F64IB FIQ 676 ABF OR]?

= Techofworld.In

1) 969 99 Q63181 FER R68 G199 sl

2) QOQI 99° QIF AELIFIE FIEA FIIE 69T A8 G712 62IRAR
3) 9901 Q6@ UGS 26R IQ° AFRR IR! RQLUER

4) 9PQI GIF AN AR IL° CAYRIER FSIRYER |

Correct Answer: 3) 996196 dAGE g6a 9e° AFAR IR 226N

Candidate Answer: 2) Q9Ql 98° QI QEQIHIE FRIER FIIg 69T A8 IRAL 62IRYR

QID : 806 - G1EQIGIR 2GR 62RYR 12! ARG VB FAQ Ye° AQ 691¢Q AR FGS!| CHITR 626R ANIFIQ A FRE YA A 6FRIQ 2AINEIER |
269 12IQ ARAIAER AQ I,  NIGT 62YR e° FRA TOI A TR 62 VITIAIER A2 FRYEA FEER SI2R AT 2R 6IFAIFR QI | FRIT
Q26 6360 966 08 dsiagsal

@ 69666967 T60Q 62RI 6aFIG FQAIYI QIR 6241Q 629, ZIEF G648 OF 2AIRR KITIQ LA AR 2N 6941 AT0IR 698 Al 2N AUCR 9L 2A
QG 2R GIIRM |

6J606R6R @G 19" GIF QAR G1E6R QIRIRER 62AIER FAR AGS F6R ?

' Eligibility Test http://202.191.140.165/otetmay 19/ccgsa_sep19/process.php?appi

= Techofworld.In

1) 21Qg8

2) 91992

3) 6RIE99

4) 6g16a 9Rg4

Correct Answer: 3) 6QI€¢e

Candidate Answer: 3) 6Q16q3

QID : 807 - G1EAIQIQ 2R3 62IRYA 42 IR AF ARSI IQ° A 6QIEY ANR! AR | CHER 626@ AV A FAF JAY 2N UG FARCAER |
21671 92Ig NNNIEA AT 1Y, ¢ AT 6YY I8° FRR F0I AQ AN 697 IVIAICH AP FFYER FYEA SI2IQ AT 2R CFRAINTA AU | FERIF
Q24 6Q60 F66 A8 stingen |

@9 6J606R6R AT 62AI 68AE NRAIYI AIQ 62917 624, 2IEA F66 OF ARG LIIA IR A4 2IF 6861 AG0IQ 6gA ZAll 2R AACR IQ 2ANIQ
AGR 2R QFIIRR |

QRVN6Q 7@ M 2B
Options:

1) 2018

2) Qigl

3) QIdy

4) Q0 AaQ"

Correct Answer: 2) Qg
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QID : 808 - GIIAIPIR 2R 62ARYA 921 NG AP FAQI 49" A 691¢G VNG AR | CHFR 626M ANAIQ A KRF GAY 27 CYRIQ 2AINCIERA|
2167 9219 VANIVER A Y, 7 VT 62YY 9 FRR TOI A VAR 699 TITIIER AR TR FEYSA SITIR AIA 2 8FANGA AIBI | T6AIF
Q20 6990 966 8 d¢IRgsR |

Qg 60606R6R FENQ 62RI 6RAF APAIBI AIR 62RIF 621, AIEF FEH 9F FAING AVIQ LA ASRI A 6541Q AOIQ 64 Al 2N AACA I ZAIQ
AGR 2R QGERR |

QYFIRE FRIGR 6REC6RER AGIBA 98 62RI1?

== Techofworld.In

1) Aggfiea
2) Q2QIERER
3) gINIERER
4) 9666

Correct Answer: 1) Q@Fsa

Candidate Answer: 2) d2QIE@6Q

QID : 809 - GIEQIGIR 2R 621RAI 921 A9Q 4O QORI 96° g 6914 ARG KAQI| CHER 6267 ARG A GRS YL 2F 6RIF 2INCRER|
21671 9219 AANIREA AIY @Y, ¢ AT @R I9° FRR FOI Ag AR 62F FIVIAIER QIR FRYER FEYEA FIAR AA AR EFRAINER QI F6RIT
Q2Q 6960 966 08 d¢Ingsa |

Qg 60606Q6R T6RQ 62RI 6RFE AQAIB QI 6217 629, ZIEA F6H A AR ATIA AR ASR! 2IA 6541Q ATOIR 658 Al 2N ATEA 9@ 2ARIA
AGR 2R QR |

668 90Q 688 UG @'6 YOO AQR?
Options:

1) 6QRIQ BN 21 AACR AGN

2) ¢dQ 81 21N AAER AGN

3) 2A6BITR FIR 2 AACA TG
4) Q12 |IQ 2N QAR AFA

Correct Answer: 3) 296218 8@ 2IF AAER AR

r Eligibility Test http://202.191.140.165/otetmay19/ccgsa_sep19/process.php?appi

Candidate Answer: 3) 2Q63/9Q 8IQ 27 RAER AR

QID : 810 - GIIAIPIR 2AA 62ARYRA 92 AKG AP FAQI 9" A 691XG ARG AR | CHFR 626M ANV A FRF A4 2N 6RIQ 2ANCIERA|
21671 N2IQ HRNIAEA A AR, ¢ NIFE 624 9L° AR FOI AQ AR 69 VIVIAIER QIR FRLER FEYEA SR AIA AR EFFAINFR QI | TR
Q20 6990 966 08 d¢Ingsa |

@9 6QEEERER FEAQ 62N 6RFIG AQAIBI QIR 62917 629, ZISF K66 QF 2AIAR AIZIR AR AR 2IA 6561 AGOIR 65A Al I ATER 9@ ARIQ
QPR 2R GOIRN |

wwsacre | @CHOfWOrld.IN
Options:

1) 92l 6QAAINTR AIT AR 6ARHIE

2) 921 6QAINFA NDY AL 6ARHIAT

3) 921 6AAINTA 6N AD 6ARHIAT
4) 42 6QAIRGR §J A2 6ARHIAR

Correct Answer: 3) 12| 6Q7I0EQ 6G1M AR 6ARHIQE

Candidate Answer: 3) 2| 6Q7IRER 6GI A2 6ARHIAE

QID : 811 - The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error'.

The skit is prepared by / one of my students and / it is really funny and enjoyable.
Options:

1) The skit is prepared by

2) one of my students and

3) itis really funny and enjoyable.
4) No Error
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14-Aug-2019 Shift-3™

QID : 641 - ‘(] AQARIF6Q 9L, Y4 IS° VG AR TAYLR QYR ARAIN I’ I8 QVNER 69Q 97 YA
QUQge 62IRT?

Options:
1) 9018 9Q
2) Qa8 99

3) Q16 99
4) QAIEERIRIR YRBRAR I

Correct Answer: 2) 933 4Q

Candidate Answer: 2) 9RI8 49

QID : 642 - 0Q 2@ 92 §A1KIe 98 @ag! 2I6a e ARINER FVAGEF g€l
QR VA AQ VA
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Options:
1) 2digd
2) QI
3) QBQaN
4) G604

Correct Answer: 3) Q6244

Candidate Answer: 1) 22gd

Techofworld.In

QID : 643 - 596R 629 AR AN LR FAIARE G2l F26 ARG | G671 @'¢ 631g8?

Options:

1) AR QY
2) 6dlGi@ QI
3) @GR QIRY

4) 9§ o9 QI

Correct Answer: 4) g4 9o@ QI

Candidate Answer: 4) 9§ 4o QIa4

QID : 644 - 0 38 91l §MAIR Y *QgG!
QAIVFIA 6AANEE BRQ AIGAIR B KRS IR FIASYER G AGY 6AFFR AV,
4R, ANMYSR 9T K9G |

Options:

1) 09-9Q ARG
2) QUQ-QAQ A8%
3) 0q-0R ARG

4) QUQ-9R ARG

Correct Answer: 1) 99-QdQ 8%

Candidate Answer: 4) QUQ-O® 98%

QID : 645 - G6¢)IB 609 AA0I RFAQ ARINIA AT I AYS ?

Options:

1) @al

2) Q1991

3) el

4) QU6 AN



Odisha Teacher Eligibility Test

Correct Answer: 4) QJ6QI38 AY

Candidate Answer: 1) Q9

QID : 646 - &\ FRIEQ YRS @7 QIR IRGES ?
Options:

1) g6Qg A2Ie

2) FR1Q 671298 69R1AL

3) IFRIQ 6612Q

4) 6qIQ1QIe Q12

Correct Answer: 3) 9FIIQ 672Q

Candidate Answer: 3) J&FRIQ 6C12Q
[ echofworld.In
QID : 647 - g6QQ 71213 622 F9Q TR YA AR
Options:
1) Qe
2) Qe
3) aqie
4) 2291

Correct Answer: 3) Q99

Candidate Answer: 3) Q@

QID : 648 - 699 AU AN 19746Q 6Ll QQ@GE RIAMA10 JQAIRQ QAR ?

Options:

1) 26j0Q ARI9

2) QIG aQIR

3) 9ol

4) §Q @R

Correct Answer: 2) ¢S Qi@

Candidate Answer: 3) 9Q@l

QID : 649 - ARIFATG 6RGTA ATGY IRIGRF YRR Y6AT FTIFF FIFQ 699 AAMNIY AIY Q2AARYR!:

Page |26



Options:

1) QBIER4EI16Q ARyl
2) NI AGLIQAY
3) QIR S

4) QIR6dR

Correct Answer: 4) QI6de

Candidate Answer: 3) Q19I5 a9

TechoﬁNoHdIn

QID : 650 - TR1Q 6412R 6QRIATGF @4 “3F4IR 6619Q ” 18R 6QRYEA ?

Options:

1
2
3
4

@79 QIR
Q9. 63. Q. YNGR
Q. AIARIQ
QAR QUK

~— N S~ S

Correct Answer: 2) @QQ. 68. &. gReQ

Candidate Answer: 1) @09l @QQIQ

QID : 651 - G76Q YR FRAUAIRR IXI°FTG LG I9° §¢) 99960 eaa fag!

¢RRIQ FAQIG AIFER A AR A4 694 62AYRI F6R TR AQI 9B 6QAET 6HIN @ 62N VAN RS
TR 999 AR AARAIFER 23| V6Q V¢ 6208 62 AT6A

Q2 G T6QINI 6TRRR QIR CARIQ 6QHINRYRI- 62 FIAR AIFLER; Y2 FIFIER; SR2UF Sl
62Rg6RI BT BIC AACA IYAM IS° AQAURNI 6R6R 66R 61 ERYARI F6Q AYTUGTI 62!l 62 AR
6Q6% G664l QUA ATR! QIF QACQ 2R 6AS 62192/ GO F6GR 6Q6RI

6907 QTR Tl SO cRYMI I9° QAISE AT GINER AR FF 6ICFEER 64 ATER F24IQ
651091 IR, 62 9@ VIFER IR ARl 69, 9I'A IYFIRQ JAR LR AAILRER & ALY | 121 A6Q QIR
MRYIQ GINGN NG 6TARI 6997 FEAS QA 6221Q AFL 6TRAIRYRN | 62 62YR AAAAFER AR AQT
VIQER 2T, GIN AGT| 6Q76R IR AIRSE|

64606Q6% 64 B 6RI0Q1 REAQ CIQ ARIAM!, 6AYA 6924 AAEA 50 TQl 62RT- 60ITRER GI'A RIF 6
ORdll 20R0S 2VAER CAJIDIREG I 126Q AIF1E Vgt AFT| 62 $AB I2IQ AR 6AAIEE QR 9 0Qd
adis Je90q 6RYSI ANILG QR

A9 gl 96QI91g 641N GO 6MEQI ALER RO AEREY @'€l YAI?
Options:

1) QBQI GIFQ A 62919 SILYR!

2) @59 BIF ALY FARIQ VLR

3) gGal QI A AIGRIQ SIFAR
4) 62 629% QI QTG KRG FIFAR

Correct Answer: 1) Q0Ql 9IFQ 9F 629Ig QIgaR
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QID : 652 - G76Q gQIQ RALRS! IMI°ET] LT Ie° 77 4909 ea Gag!

¢RRIQ FAG AIFER A9 AQR A 694 62AYRI| 62 TAIR UG 98 6QAG 6HIR @ 62N ABARI| AR
Q25Q AeR ANl AARAILER 23l V6Q @4 62R8 62 AA6R!

92l 99 6N 6T0ER QTR FARIQ CQHIRRYMI- 62 FIAR AFYER,; G2l FIFYSR; GR2AG Sl
6QRY6RI ST 810 AUCA IYYRI IS° AQYRI| 6I6R 6967 6Q 6ATYRI T6a AYTUITI 62RI1 64 6RYYRS
6Q6R R68 QU TR QIF ABQ 2l SRSl 62IRYSI FO F6LR 66MI

6907 QGER QFQI OGN 6RYMI IQ° AICEE AEE FIRER ARIANI| @G 6IELERER 64 ATER 4G
68IRRIQ 9N, 62 9@ AR JIIAI 2R 64, GI'A IYEIR IR IR AVIFRER | ALY | 12! A6Q QIR
ARJIR SIRTN IS 6TAR 697 AR QA 2R ANV 6LRAIRYAI| 62 6AFHR AARAILER 2] AT
2RINEQR AT, GIN G| 626X Gl RSS!

6606Q6% 62 AR 6RI0A1 RGAQ UIQ ARIAN, QYN 602 QAR TO FITI 62IRT- CATAER FI'Q QIF1 B
0R4ll 20060 2VA6R CRAYVILIAG e° 1Z6R AIN1G Qg AIFF] 6 gas N2Ig AFAI 62716 AaQe 9 0Qd
adie 9090 6AYS! AMILS QYR

2AQAIFEQ G2 A6 (Q2)@ Fadie QIdY @'a gmI?

== Techofworld.In

1) 62 GIQR AIGEER

2) g4QI QIR GRAU HAUCR 6TRIYEA

3) 6Q 3@ QNG UGS YS° 6AYLIER FSIRYERI
4) QUEQIB FIQ ALY

Correct Answer: 3) 64 3@ Q70 9QA1 I9° 6RYRIER KSIQIAERI

Candidate Answer: 3) 69 88 Q79 9G9I IG° 6RYAIEA FTIRYER

QID : 653 - A76Q QIR FALIRR! IMI°ET] LT e 77 4909 @aa dag!

¢RRIQ FAAIG AIFER A9 AAR Y 694 62AYRI| F62 QTAIR UG 9B 627G SR @ 6N AGYRI| AR
T2TQ ARQ YA AAQAIFER YR V6Q V'8 6228 62 AA6RA!

Q2 99 6RQIFIF 6T0RR QAINILRT YARIQ CQHARLYMI- 62 FIAR AFYEM; G2l FIFYSH; GR2AG §al
620g6RI AT 816 AACA IGAM IS° AQAURI 66 6967 61 ERYURII V61 AYIRUTI 621 62 6RY2AS!
6Q6R F64 QAL AR FIF QISQ 2RI 6ASI 62IRARI GO FELR 66

6200 QIG6a QoI GOG AR NS° QAICEE A LINER AV &P 6J6G6QER 64 AUTER g4I
6919919 IR, 62 §F NWA YIEA! ARl 64, BI'A IPVIQ JAR TR AVIAREA & ALY 2 A6Q @Fal
ARJIQ FINGRI NG 6TARI 6997 FEAS QA 622IQ AN 6LIRAIRYRI| 62 6a¢A 2AAALER 2 AT
2NINER 2T, GIM AGF| 6Q76R SR AIRFE|

6J6G6Q6R 64 G 611001 REAQ dIQ ARIAN!, 6QYA 662 AU 50 QI 62URT- 60ITRER GI'A 1A 6
024l 20550 2NAER 6RIILIRG NQ° 26R FIF1G gt QIFEI 62 gag LI IR 627168 AaQa1 9 0Qd

AdYe 0020 6RYQ! 2NILE AYER
26919 CRIQ 6298 “QRII” d0a 9EER?
Options:

1) 20

2) 26QI

3) QRAe

4) 080Q

Correct Answer: 2) 26l
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QID : 654 - GQJ6Q JAIQ RALIRRQ! IUIATY AL 1&° 8¢ 999 aaa G2

¢RRIQ FUQNG AIF6Q QI AQA Y8 62F 62RYRII 6L QAR AGI 9F 62T 6HIR @ 62N AR FIQE
320Q 29 IRl AAQAILER ]! A6Q ' 6208 63 QT6A

Q2 G T6RIFIF 6F9A9 AR XA 6QHIARYN- 62 FIAR QUFIAER; G2l VIFUER; FR2UG SHQ
62026MI ST B0 AUCA AYARI 19 AQARI| 6IER 6I6R 62 6AAMI| V68 AYIUGI 62MI1 6Q EAYAR
6Q6R G668 QA TR GIF 2GR 2RI 6MSH 621R2]1 §O B6QR 6Q6MA

6909 QAGEq QTAI OGN 6RYMI IQ° AISE! AL YIRER ARIANI @G 6IELERER 64 AUTER FREIQ
651RQ1q IR, 62 9@ AR YITR! AR 64, O'A YSIRQ GAL LR AAIARER @ ALY 2l A6Q QO
AYYR SRR IQ° 6TARI 62RY FEAS QA 62IQ ANA 6LRAIRYRI| 6Q 6QYRI AARAIFER 23| VT
ZNIQER 2@, SIMl BT 6QCER SR ARBZ|

6960696R 62 OF 6RI0Q1 VLAY UG ARIRAR, QYN 6624 QUEQ G0 94! 62IRT- 6AITRER GI'A Q1A @
0Réll 20069 2VNER CAMINIAT 16° YZER FINTK VIt QIFEI 62 A8 ILIQ G 62AI6R AR 9 0Qd
a4 DRI 6AYQ AMILS QY6R!

F6AIB FRIQ 679 69 GMIPFER MRS 62IRYQ! ‘GRI 6241 2R AF0IQ FANS?

== Techofworld.In

2) gea
3) 9GQl
4) ¢IR

Correct Answer: 4) ¢IR

Candidate Answer: 4) ¢i@

QID : 655 - G96Q gQIR RAULIRRQ FQYI°E5] 993 19 §F 99 Qaa Gag!

¢RRIQ FANIG AIG6Q YT FAQ Q84 69F 62AYRI| F65 RFAUR UG Q8 62T 6HIR @ 62N AR ARG
TR AEQ M AARAILER 23 AER @'¢ 6228 64 AACAI

Q2 R U6PIFIF 650RR AR LARIQ CRHIARIYM- 62 FIAR AFYER; G2l AIFYEM; FR2UG Sl
6QQ26RI ST BIG AUCA AYARI NQ° ALEYRI 6I6R 6R6R 64 EAYLYMI| F6Q AJRUGI 621 62 RS
6Q6%R Q68 QA (TR GIE QURQ 2l 6RGll 621RgSl §O 86LR 6R6MI

6907 QAGEq QTQI OGN 6RYMI IQ° AISE! AET YIRER ARIANI @G 6IELEAER 64 ATER TREIQ
651RQIQ IR, 62 9% NWA FITR ARl 64, OI'A QLI JAL LR AVIYRER @ ALY 2| A6Q Qo
IR SRR IS TR 6997 FEAS 2QA 62IQ AV 6TIRAIRIYRI| 62 QYR AAQANLER YR AT
ARNAER AT, SN G| 6276 IR ARV

6J606Q6R 6Q B 6RI0Q1 RGAQ AIQ ARAR, QM 66% QUEA TO G9! 62IRT- 63ITRER ' QIF 8
0R¢l 20060 2NRER CAILIRE 1&° 126a ARG Qs QIFS| 6 9as ILIg AFRII 62716 IRE! 9 0Qd
adie 9e99q 6AYSRl 2MILS AFER

4@ GYI°8 OR6EYI16R 6B ARIQ 624 QBT OR?

Options:

1) 9OR GQ U6QIS1 IR @64l GIBQ ER!

2) Q01 &° QIF 6QISIE CRIEQ AIg 691N A8 TR 621

3) 9901 99 AFRS Zem IQ° AGER 9IZRI FQUER
4) Q0QI QIF AR AR I° 6RYAIER KTIR2ERI
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1) 99 99 UG8 REIR 64l LIBQ Z6R

2) Q0QI IQ° QIF 6QIAIE C1IER FIG 6QITN AF FRAIL 6RIRARNI
3) 9961 RER UARY gom Ie° AQER IR K2R

4) QGQI QI AL AGR IS° 6AYIER FFIRYERI

10.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5Yz/

Odisha Teacher Eligibility Test

Correct Answer: 3) Q01 R4 AR J6M IS° AFRR JIIQI FQUER

Candidate Answer: 3) 936184 AR 26 IQ° AQRR YIZR! FQRER

QID : 656 - S1IAIQIQ QA 6TIRYR N2 719G AF KRG IS° AQ 6QIEF TRR FEQ!| CSIFR 626R AV
QA SRG QLY 2N 6FRIQ LRIRCAER

2671 ¥2IQ VAN AG @Y, ¢ UFE 6a%R Y° FaR F0I AQ AR 697 VITICIER AITl FaeR Fde6R
QI9IQ AQ 2R 68RAITA QIS TEAIT AL 6990 766 A FHQAYER!

Qg 6960696R F6NQ 62RI 6RFG AQAIYI AIQ 621G 629, ST K68 9F LA AR oA AL A
69410 AQOIQ 643 M1 2UF RACA IR ARIQ AR AR AGIAR |

6606967 @7 Ia° QI QFIER G18I6Q ITIAER 6AFICE FAR A FRER ?

~= Techofworld.In

2) 5Igge
3) 6QIege
4) 6312162 9Rg

Correct Answer: 3) 6Q1€q8

Candidate Answer: 3) 6919¢a

QID : 657 - G1IIAIGIQ 2IRA 6LARYRN IYI FIRG AF KRR Y& AQ 6QIEY LN KRR IR 626 AAANG
QA ARG gAY 2N 6QRIY LARERERI

2601 I2Ig VAR AQI A, ¢ AFE 6a9q Y&° FeR TOI A AR 697 VIVIAIEE ATl FaeR FaeEM
Q210 AV 2R 62RANITA AIYI| F6RIT A2a 690 966 a8 FIAYCR!

QP 6J606Q6R Q6 2RI 6T FIQAIAI AIQ 6291 621, ST F68l @F LARR VIR oA AV 2UF
684119 AQOIQ 68T 2RI 2 RACA IR VR AGR! 2Q *QIARI|

R3016Q 2Q Qg 282
Options:

1) 2QQIe

2) QIgl

3) QIy

4) Aqe A"

Correct Answer: 2) 4igl

Page |30



QID : 658 - G1AAIGIQ AR 6NN N2 7199 AF FAQ I° AQ 691¢Y AN KGR 6HITR 626R ANVIG
AQ SRG gAY 29 6q1I LRIRCTER

2l6¢ Y21 ARRIGER AL KR, ¢ AUGE 6a%Q IS ARR F0I A ANIR 69] SIVIFIER AL FaeER FageR
QITIQ AIQ 2R 68RAITA QUYI| FQIT A2 6920 F66 A8 FHIRER

QP 69606R6R F6QQ 62 6aTC AQAIY AR 62919 629, 2IEH F64l 9F AR IR oA REF 2F
65411Q AQOIQ 65T 2RI1 T RAEA IR AN AGRI 2R Q@SRRI

QIR C1UEQ EREPERER 1PIBA q@ camI?
Options:

1) aggdiea
2) A2QIEREQR
3) giFIEReR
4) 9G%6R

Correct Answer: 1) 7Q@d6Q

Candidate Answer: 1) ¢Q@d6Q

Techofworld.In

QID : 659 - S1FAIGIQ 2R CYRYN 92| ARG AF AR Ie° AQ 6L YNGR AR | 6SHITR 626 AN
QA FRF G 2 6QIRIG LARECLER

26 N2IQ ANRIFER A !Y, ¢ AT 6Q¢R IS° 2@R 01 Ag TR 6aQ AVIAUER AL TFYSA FEe/eM
QI9IQ AT 2R 68T QUG F6RIT A2q 6920 F66 A8 FHIRER

@Q 6d606Q6R TR 62 6RTIC AIQAIYI AIR 62919 629, ST F6E @F QAR LILQ oA QORI 2IE
686119 AQOIQ 65V &M 2UIF1 RUCA IR LA ISR 2R QIR

689 QR 699 UG V'€ YOO FQE?
Options:

1) 6gRIQ BIQ I AAER AGR

2) ¢3Q IR 2 QACA AGR

3) 2A62VQ SR 2T AR AGR
4) Q124 2R 2 QAR AGR

Correct Answer: 3) 296219 IR 2IF AAER AGR

Candidate Answer: 4) Q2I12Q 8IQ 2Ifl RUEQ AGR

QID : 660 - G1EAIGIQ AR 6LARYRI 9L 7199 2B FAQ IQ° AQ 691¢Y AN KGR 6HITR 626R ANIVIG
QA FRR gL 2 6QRIG LARECLER

2l6e Y21 ARRIGER AL [Y, ¢ QUGS %R IS ARR F0I A ANIR 69] SIVIFIER AR FaeER FageR
QITIQ AIQ 2R 68FAIFTA QUYI| F6QIT A2 6900 966 A8 FHIRER

QP 6960667 F6QQ 62 6aTG AQAIYI AIR 62119 629, 2IEH R64l OF 2AAY IR oA REF! 2F
6861 AQOIQ 64V M| 2Tl QACA IR 2V AGR 2R QIR

Qlﬁq 2ARCQQ LR J1R?
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Options:
1) QI 6QTQ SIE AL 671RGIRT
2) QI 61T AQY AL 6F1RHIRE

3) ¥l 6QAINTR 6] AR 6ARHIQE
4) 421 6AAIRFQ ¢4 A2 61RHIAE

Correct Answer: 3) @l 6Q7I9FQ 6912 AL 67RGIRS

Candidate Answer: 4) 92| 6Q7I9%Q §J A2 699HIRE

Techofworld.In

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The skit is prepared by / one of my students and / it is really funny and enjoyable.
Options:

1) The skit is prepared by

2) one of my students and

3) it is really funny and enjoyable.
4) No Error

Correct Answer: 4) No Error

Candidate Answer: 1) The skit is prepared by

QID : 662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Divit (used for love playing) football in the corridor.

Options:

1) used to love to playing

2) used to love playing

3) used to loves playing
4) No correction required

Correct Answer: 2) used to love playing

Candidate Answer: 2) used to love playing

QID : 663 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The metal beams were corroded by the saltwater.
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QID : 781 - 9@ 98390 QAQ, AV JVE AHR6QR Q MRLIQQ YRIGY FAL RFS |
Options:

1) 2IPAES QIERIE]

2) Gegaeae Q8618

3) J0R9ee Q6

4) QAN AV QRERQIE

Correct Answer: 4) QRIRIA AV QRERIE

Candidate Answer: 2) 56299e@ QR6I4

QID : 782 - , , 8 R29IQ AT AV6QR AUIQ G ATS g6 |

Options:
1) AFQGI, Q&F, A A1
2) 2RI, Qf, I AL

3) ARSI, AN AL, AVAG!
4) APV, VXA AYR1L, Y AF1C

Correct Answer: 1) QYQQI, Q&F, QY AY1C

Candidate Answer: 4) QIQQGI, A AL, I A1

QID : 783 - @228 G 6RYER FIQd JTILIFIER AT AYR KA AR AFNR 62RYS
QAQIGe] geAs FQEE |



Options:
1) 6R%Ql @IS
2) QIS QYS!

3) @@l @QQ!
4) QUQIIe QAR @G

Correct Answer: 4) Q9199 Q< QYS!

Candidate Answer: 4) QJQI9R @091 @S

TechoﬂNoHdIn

QID : 784 - J1QQ HIQQQI CCGITQ Q1 QUL IR el 6208
Options:

1) @xael

2) Qaig

3) 6a@gal
4) 9QQeR

Correct Answer: 4) 9QeR

Candidate Answer: 4) J9QeR

QID : 785 - “I@ g@Id4 B 998 QY6 KAULIRNYQ! 96 @RI (OQI& Q@ QSN FRIEA IR GRAI” AR 624
ofieRlenId VQLE 6LIR2N |

Options:

1) gaql

2) Qaql

3) AIga

4) BQIEAA

Correct Answer: 1) ¢a@ql

Candidate Answer: 4) QI@QaI6QUA

QID : 786 - 9@ 6208 1@ Q6R4Y 2IAN AR IR AVQ VLR, AUATE GQ FE ERIRT
006Q QRIRING FFC @A |

Options:

1) 6QIAQ

2) IeaQ

3) Ig6TERS
4) 6QIQ
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Correct Answer: 2) o&@de

Candidate Answer: 1) 62199

QID : 787 - FIAYS ARIQ 6996 ARl AYVER 6TITETIRGR AN [ 2U6S?

Options:

1
2
3
4

6QITETIRG 6836Q FrId 26-30@ JFAIQN 2ALYI6Q A°FL FALIRAER |
6QIGETING GAIS AIIFIER RIFE QI GRUR FIAFERR JRIRQ 2GS 62IRAIER |
6QITETING AAFTR NI6Q FASAS FRILG QS AR JRIL 9IS 22N |

QUCAD AN

(5P R0 S

Correct Answer: 4) QJ6QIa AL

Candidate Answer: 4) QJ6QI8 A7Q

TechoﬂNoHdIn

QID : 788 - JRUIFAR 598 IR IR FAIQ REFFY FEl 2652

Options:

1
2

) SglEis eaie 98 «dal

)
3)

)

8
Qe A6RIRIe %2@ @Qal
dglee egadll Q‘ﬁ' PR
4) RU6AB ALY

Correct Answer: 3) dQIgia 6gdl 98 @Rl

Candidate Answer: 4) QU6Qa AN

QID : 789 - S9AYS AUQ 6996 JRIFA JAIQ A6 F6aTS 621R2IN?
Options:

1) a1l

2) 6QCETIRG
3) a1

4) Q99 (ANY) 9° (6ATCTING)

Correct Answer: 4) Q99 (99191) 9G° (6ACCTING)

Candidate Answer: 4) Q@9 (99181) 9&° (6AITETIRNG)

QID : 790 - 39RYE AUQ 699F ANIVIER ARSR 62AR2AM?



Page |36
Options:
1) agQi
2) 6QI6TTIRG

3) 2066Q 60R6°qEe
4) QoQ!

Correct Answer: 1) g1

Candidate Answer: 2) 6QIS6TTIAG
QID : 791 - 629 gLI0Q QIS4 QI IQ ORI Jee @GIa?
Options:

1) 94

2) 6194

3) @9

4) 2g6qu

Correct Answer: 2) 6QI94ll

Candidate Answer: 2) 6QIQ4ll

QID : 792 - “G3:JQ”" 64IQI6Q FUQIG 499 IR 599G |
Options:

1) Qe

2) 6g60gR

3) faIe
4) QUCAIB I 690G Q6L

Correct Answer: 2) 69609

Candidate Answer: 3) QA1

QID : 793 - Gg6Q FAUAIRYS! IR T2 | “QIA FER AIAUARER 6ABER, I9° AT AANA AURARNAG ¢RI
cQlgem I

Options:
1) AR ARY
2) 6dI3Q QIR

3) 5@ QI
4) 6J153R-05% QI

Correct Answer: 2) 6dlGe Qa4
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QID : 794 - 3RS ANER FRIG AR VVIE ANRQ IAIQ A& 26E? “QRIE 2048 ULES IS° ARIR
8.00 6@ gaie @2l |
Options:
1) 2293
2) [AQ

3) VG
4) QREOREAS

Correct Answer: 2) J9Q1Q
Candidate Answer: 3) QQIgQIQ
[ echofworld.In
QID : 795 - QRIKIY QT AR K6 QdIR] K€ 26S?
Options:
1) F@Q
2) RQQQ
3) sqllee
4) Q918

Correct Answer: 2) @39@

Candidate Answer: 2) @39

QID : 796 - @9 62282 264 852 G2l QTR CASR?
Options:

1) QRIKIE QI

2) AFRIQ 6612Q

3) caldqle Q1@

4) XQQ 69129 6QRIAG

Correct Answer: 1) QRIRIZ QI

Candidate Answer: 2) J&fl(IQ 6719Q

QID : 797 - 92¢1 632 Y9 989 QIF Q2g |



Options:

1) 2181

2) el *AQIQ

3) 6096

4) Gaa gm

Correct Answer: 3) 6QQ%G

Candidate Answer: 3) 6090

QID : 798 - ‘25RaQl AU’ QAMIAQ FAARY K6l 26T |
Options:

1) 680 ¢l QU6Q 2GS

2) 6918 Al AUER ARGS

3) g 2l AT6Q 2GS

4) 3g A4l QT6R 2GS

Correct Answer: 2) 6918 ¢l QQ6Q 2RIAS

Candidate Answer: 1) 63@ 261 QQ6Q 2IIAS

Techofworld.In

QID:799-gRMAR YR Q@A | a7 685 AT IRI6R1 G 9639 26 |
Options:

1) AFIRIQ 6612Q

2) FQQ 69198 62K

3) g60Q A19I3
4) saIdqlel Q1@

Correct Answer: 3) J6Q% 71218

Candidate Answer: 2) I@Q 6196 629196

QID : 800 - I@Q 67127 6QARINTF TRl AFS QAN ‘ABCI'Q FTAY Q6! 21667

Options:

1) ARG AR FG2ATR &I
2) AFIGR F1FQ UL

3) 6dludia

4) 993G 6

Correct Answer: 1) Q@1 AR VFAIAR g&IA
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QID : 801 - 967 QARSI FT0 9& YFYER 2ea G2g YT Fadea ¢ 623 AG0IQ 2ARFS!

¢ 62 62 gng gaa

2R 6916S & 60174 QI |

¢ S10ge @ QIORg 69Ya

qIe FAR6R,

QIA6Q AR GYRIR,

A2 2R A0SR 623 |

2R 60696R6R 2RI 6D

2R KA ALY,

¢] 692 G5Tq Fa] RAR QITIF 67IQ 629! AB2,
2R SI6Q 2R ARG

QT 6K6C6QER §Q 6269 @€l RT6Q?
Options:

1) 62 YRYEY §6Q

2) 63 IR 691769

3) 62 99Q 92 2IRN6S

4) 6Q §I9I6Q 68IR AF6R

Correct Answer: 1) 64 JRYEF 8R6Q

Candidate Answer: 1) 63 JRQEQ §6Q

Techofworld.In

QID : 802 - 967 QAULIFYR A0 AQ FIFERR AR F2Ug IUIT FREER ¢ 627 AF0IQ 2KRS!

¢ 62 92 gag g9

219 69116 & 6017G Q1T |

¢ SR B AeRg 629

4Ig RUR6R,

QIY6Q AR YRIR,

@9 90 Q0QIQ 6QS |

2R 60696965 26AIR 6T

2R ¥ ALY,

¢] 692 609q A48 @88 QTR 6AIR 629 ABT,
R FIYEQ QAR FAR!

A R4l 6QYER?
Options:

1) 9Qg6Q Q1Y *0Q
2) Q1

3) ARNNEQ AR
4) QUEQB ALY

Correct Answer: 4) QJeQIa ACQ
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QID : 803 - 567 FALIRYS AFS! OF 99FER AR Fag IUIT FRd6R ¢ 623 AF0IR 2GRS!

¢ 92 92 gag §9a

219 66166 @ 601G QI |

¢ RGE B ARG 6QYRI

4Ie FAR6R,

QAIA6Q TG IGAAIR,

49 99 0IRQ 62 |

2R 60696967 AR 6T

2R 9AQ ALY,

¢] 692 Ga9q G328 *AQ AITIA 691 627 ABE,
2R GI6Q 2AR KRG

699 0°F6Q AF 699 ACRIRY JAFIEE FQEE?
Options:

1) Q@8

2) ANIQ FIUTR AEAR
3) ARYIEQ ALQQ AR
4) QP21 AYRQ 2EAIR

Correct Answer: 3) QY6Q LA 2RISR

Candidate Answer: 1) 9di@ad

Techofworld.In

QID : 804 - 967 QARSI @RI UG 949LR RAQ G2g Ydiw Fad6a ¢] 627 AF0IQ 2IKRS!

¢ 92 62 gag §9d

2R 6366 F 691aG QI |

¢ S10gF 6 ARy 6a%I

8Ie GUR6R,

QAR ALE 9GRIR,

A9 69 Q09IQ 62T |

2IQ 6ICTER6R UISRIR QTS

2103 *QQ ALY,

¢ 622 3R9q ARe AAR AITIR 671IQ 6291 AF9,
2R QIU6Q 2R KR!

QI A0RAIRG /'€ @R?
Options:

1) 699 GRIGPR 2IAGG FIAFS R6Q 6A0IQ VI AIR T IL° 6ALAL SIF IG° ARG FRIF @6Q 620Iq
Jdel em

2) 92Q1Q 6dRAIQ 2R 68Q1q

3) 39Q 6996Q R8q A% AR 6TAQUQ 629 g FIQ QG I FIEQ A2 AAWIFFRR AIY AR 629 |
4) QUERIB FRIQ AN
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Correct Answer: 4) QJEQI8 FIQ AN

Candidate Answer: 4) QJEQI8 (IRIQ AN

QID : 805 - G6% QRUARYQ KRG 98 9FIPRR AeQ F2g YT FQ§6Q ¢] 628 AG0IQ 2ARRG!

¢ 62 62 gag §9a

2R 66166 @ 601aG Q1T |

¢ S1Gger 6 QARG 694F

8IS FAR6R,

QIY6Q AR IGYRIR,

Q9 8 209IQ 6Q¢S |

2R 6AUEPEIER AUCAIR QTS

20 K0 A2QQ,

¢ 692 GAag G0] AAF AR 691Q 6291 ATE,
2R FITER AR FAR!

@9 6RECERER AIRIG B1P6R?
Options:

1) @Q 606066 A 28R 020 FAAIRER |
2) 69606965 2INIE 2[R 6LIRLR |

3) 6960696 A2Q @G JYE 0IQ 18 699 |
4) QU6QIB FRIQ AAY |

Correct Answer: 4) QJEQI® C1IQ AAY |

Candidate Answer: 1) Q@Q 60696Q6% 0@ 28R 526 FAAIRES |

Techofworld.In

QID : 806 - 967 GRUAIRNYQ! AFERR AT YGFLRQ QAR TAUF AITETE Q1 AT 6208 IR QBQ QI 2T
Qa9 g8 AFEQ G2 | 6A7ERR G RN | STl AARER, §8 A 671928 Q2N AILIR 6A9ERR FAR
QIZIREUN | FINSY 26AR ZQER 621RAN | T €8IS B CANINIQ 6LARAN | 2GRS 34 Al AR AQ 6@
62124 | 78 0@ 98 2QER 6NN | 7F 68 A¢I 94l IR 6RAN | AMYER RACR FIE 62N BN |
RIRCY IM 9@ VIR, IQ° 6AYER FRIQ AT ATERA TN | 6A4EAA IR ATER FTUN QIQE 6QER
692 @16 @Y 6816 VYR FIR ISV 62IRUN 6ANFNER AUTER QLAY AR 2T | N6 B 6816 AYAIER
60IGN RIRTAR AN ARCAQ UAUAECAE 6QIT 6RRAUT | AYRIE ARCY AAQ 8 AFE ACAARIER AZ2UN |
ARG ATR, AIPIFIAR, B FIAFIER AZ2UNY | RIRCIER S 9@ Ug RN QA 9% UG VRS *AQIG
2AQA%E 6Qn2N | @8 QIRQQ RIP6R A2 0% 6@I5° GRAIN, AIY TREQ AE MGG R ard S R
2RYPI°E FIRCLER NI 609 QTN YV ALIS TYE 6RAAS TREA 6AGER 616066 QI 629 9ge A&
2Q6EITE @AARQ |

ARCQ QTGS 6RR0IER 6QAIQ Arela?
Options:

1) AILIGIAQ

2) QR4 26N
3) Qe A6
4) QU6 AN



Correct Answer: 4) QU698 ANQ

Candidate Answer: 4) QUEQU3 ATL

QID : 807 - 967 QAIKIRYQI AERQ AL YIYLRR QA T2 QIGETE Al AR 6208 I QOQ Qlel 2T
Fa9), g9 AFER @A | 62gERR 98 KN | GI2l ARRER, §8 A4 671994 QT2 AR 6AFFRR FIBQ
QIZIRAN | QRS 26RR AUQER 62NN | §F 68IC B CTINRNIQ 62IRAUN | ARGETR 22 &l QIR AQ 6o
62102 | @8 9@ 98 2195a 62IRAN | @8 98 A7l 94l IR 6IR2AN | AMGER PR AIF 62AR FR2UN |
QIRCY IR 9@ 6LIRAN, 9Q° 6AGER FIQ &F QITEQ FTAUN | 6AgER IR ATER TTUN RIQS 6AGER
692 Q16 @l 6816 VY TR ATV 62IRAN 6ALAIER QITER ARG QILIR 2T | K16 8 6816 AGANER
60IGN QIRTAR ZRY FIRTAQ URRCAG] 6QIT 6RR2UE | AYRI°F VIR Q@R 8 AT 2RI QZaN |
ANGER ATR, AIPIGIAY, G FIAFIER QTN | ARCYER 9FF 9% UG KU QS 9@ UG AVIPS *AQIG
2906 6eRaN | @8 QIRYA FI96a A2A B 6RIT° GRAIN, 1Tl TREA A8 QISR AR AN 62N |
AYRIY FIRSYEQ A 60Q QB2 9F Adi8 TGE 62IRANAS TRER 6AJER 6TCEERER A4l 629 Q¢S AIF
AUQECAIVS GAARS |

RIREYQ AG AR RE QF2I?
Options:

1) g8 Ql @4l
2) g% QI 69Q
3) aqt

4) IR

Correct Answer: 1) g8 QI @4l

Candidate Answer: 1) g8 Ql @4

Techofworld.In

QID : 808 - 967 QARSI APERR UG YIYTRR QAR TG QITETE Al AR 6298 Y@ QQ QIQl 2T
J99, g9 FIR6R Q@A | 6A7FRR AG KA | QIR AARER, §8 A 671908 Q2N AITIF 6ACNR VR
QITIRAN | FINTY 2K AFER 62IR2IN | §F 6816 6 CTINIRNIQ 6ARAN | ANGER 22 Al Q1L AQ 6Q6T
621Q2IN | 3% 99 9 AQER 62ARAN | FF G2 @9 991 O 62RAN | AMFER QD6ER AIF 621Q TN |
RRCY TN Q@ 62IN2UN, IL° 6AYER FRIQ @8 AUTER FT2UN | 6AgLRR I ATEQ FT2UN QS 6QAGGR
692 @16 @Y 6816 VYT IR AAUTVE RN 6ALANER AUTER QARG QLA 2AIF | K16 B 6816 AYLI6R
601G QIRFAR AR KINCAG AAREAE 6QIT 6QR2UT | 2YRI°E ARTY AR G 2FE AR QB2 |
ANGER 2T, AN, G FIAFIER QT2 | ARFYEQ IS 9@ UG AU QIQE 9 UG AVIPS KA
2AGAG 69R2AN | AT AIRYA RIY6A A2 AR 6QIT° AT2UIN, IR TRER A AR R QI 6QIaIN |
2RYRY FIRCLEQ ALY 669 Q2N Y AIS TS 6N TRER 6AFFR 6060696R QI 629 QS AId
2Q6HIFE RRARR |

@ RIRCYER 2Rl 6FTGER §98 QLI 8F JOUIQE B ARECAITE6R ARILG! KRN |
Options:

1) 6411 FIRFIYS YPITIR

2) Qg 699

3) Og 98Qea 67198
4) QU6QI8 AN

Correct Answer: 4) Qd6QIa AN
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QID : 809 - 967 QAULIRIYR! APERS U@ PR QRQ G2F QIFETEN QI AIRTY 6208 Y@ Ve ALl 2T
9R¢), g8 ARER QG2 | 6A9RR A8 KN | FIRI ARQ6E, §8 AGE 67198 QT2 LITR 6A7RAR AGQR
QIRITAN | RINGY AR YT 6RIRAN | F 6816 G TININIR 62NN | ANGER 22 FY AR AQ 6@GT
62IR2IN | @8 97 O 2O CARAN | AT 68 gl 991 IR 6LRAN | AMYER PR6R AIF 62R QG2 |
RIRCY IM OF 6IRN2N, IQ° 6AgPR FRIQ FF ATEA FT2N | 69 IR AT TN QIR 6QAGER
692 @16 @Y 6816 AYR FIQ AATVE 6NN 6AAANER AITER QIR ALVNR 2T | N6 B 6818 AFAIER
691G RIRCAQR 2R FIRCAQ IAURERE] 6QIT 65R2E | ZRIFI°G FIRTY QAQ B QT 2CAARIER AZ2N |
ANGER TR, AIGIGIAR, 8 FINFIER QTN | RIRCIER AFE 9@ G A2 RIQE 9@ 9g QRIge *AQIg
2AGAT 622N | GF ARYQ AYER A7 AR 6RIT° AR2UIN, QIR TRER AIG FAGQ R QI 6QIFeI |
ARG AR I 691 AR2AN Y AdY8 TGS 6T TRER 6AGER 66066 Qdl 629 IS AIE
AUQEHIVE FRAIRQ |

F6QIB RIQ 6RGE AYETENQR 2T G6L?
Options:

AR 9Q QEA

2) 29196 Q94!

)

)
3) 98 Qe AR
4) 606H 9Q° 6AINRR

1

Correct Answer: 4) 606 9Q° 69IRNIRQ

Candidate Answer: 3) 98 2196 Q4

Techofworld.In

QID : 810 - G6R GRIAIRYQI AFERR AT JFYPRR AQQ T2P QAIGETE QI RIRTQ 6208 9@ A8 A2l 2T
Qa9 g8 ARER Q2N | 6A9ER A8 KN | GIRI ARQ6E, §8 A9E 67128 Q2N LITIR 6AFRIR AGQR
QIZINAN | RINGQ AR 2IYER 6TIRAN | BF 6816 B CAININIR 62NN | ANGES 4 FYl AR AQ 6RET
62102 | 78 0@ 93 AGEAR 62IRAN | AT 98 A 94 IR 6RANM | AMFER PACR AIF 621R QG2 |
RIRCQY M 9L 62ARAIN, I° 6AGYER FRIQ AT ATER TN | 6A4FRR IM QTR FTAN RIQE 6QA9ER
692 Q16 @Yl 686 AR FIA AAUGAA 6RAN CANAER AR ALY AR AT | V16 G 6816 AFAIER
6015 QIRCQQ 2RY RINCAG AAAERE) 6QIT 67R2IT | 2RYNI°E VARG ARQ B Q& ACAARIER AR |
ANMGER ATRI, AIPIGIAY, B FIAFIER QRN | AINCYER 9FE 9@ UG 2N RIQE 9@ ag QI91ge *AQIQ
2QAG 60REIN | B8 FIRGR ILER ARF AR 6RIT° QREIN, AI2I TRER A1 QIR P AN 61N |
ARYRIE ARCAER A 69Q RN G AIS TS CLRAARAR TRER 6AGRR 6J606Q6R QI 620 S A1
AUQCEITE KRR |

INGPR AITER AR FEF?

Options:

1) RIGAIER FRAIGFR AT AANER ARIYY K93 |
2) gRYGR 99 |

3) AYETEN M AGER 6T |
4) Q9 (KGR YAFILER dAIG LR ARIYY FQF |) 9Q° (AYETE IR AGER F6S' 1)

Correct Answer: 2) gagee Q@ |
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QID : 811 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.
The waiter/ waited at/ my tables.
Options:
1) The waiter
2) waited at

3) my tables.
4) No error

Correct Answer: 3) my tables.

Candidate Answer: 2) waited at

Techofworld.In

QID : 812 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

(I had studied all night), | would have aced my tests.
Options:

1) Would | have studied all night.

2) have | studied all night

3) Had | studied all night
4) Did | study all night

Correct Answer: 3) Had | studied all night

Candidate Answer: 3) Had | studied all night

QID : 813 - Choose the right passive sentence for this active sentence:
| will be working on the project.

Options:

1) The project will worked by me.

2) The project was worked on by me.

3) The project is going to be worked upon by me.
4) On the project | will be working.

Correct Answer: 3) The project is going to be worked upon by me.
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17-Aug-2019 Shift-1*

Options:

1) Formative assessment
CACRQ 2QRe

2) Assessment strategies
2IRR 6al6Rgee

3) Learning objective

dial @sasl

4) Course curriculum
6914 @AM

Correct Answer: 3) Learning objective
dial Qsaely

Candidate Answer: 1) Formative assessment

CACRQ 2RRe
QID : 31 - BRIl 6R60R APYOR 26 FFAIBR IR ___ G2l ____ Q4091 FAU6R afagRq gealeal
Options:

1) Q-QVIGIE QJ, ARSI

2) QUGS QQ, F6QE! QUEl

3) Q-GG QJ, F6Q4IT QA

4) QIYIGIe QQ, ARSI

Correct Answer: 2) QQIGIE QQ, 960461 QUal

Candidate Answer: 2) QEIGIE QJ, F6Q4I QA

QID : 32 - Q6g]Ig FRIQ 696 @RGI, 8igQ O R ATRIR AIGS JFIIE 6QR2IN?
Options:

1) @29l QRO
2) AQQI Q]!
3) 6mGQI QG
4) géial eae!

Correct Answer: 2) JdQQI QR0

Candidate Answer: 3) 6REQI QIO

QID : 33 - gQ& 6l0R dRIg YR P6Fg FUQ 6REl QYT O]?
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Options:
1) "00QI AAA6R QA 2RI Q6T 9@ JQ@ F0RRIAN R, 6Q6 AANER 26A QOR J9@ 21908 Q"
2) "86liRQl 2RI Q6T IR JQ& FlI0NRIN JRLl, 646 AANER 267 QOR J9@ 2ILRs A"

3) "GigjQl 2RQIY Q60 IR JQR CI0RPIRT JBLY, 6AG! AATEA 2i6F ROR JQR 2IRas AQ”
4) "Q¥I 204 Q6 IR gQA@ S10RRIN R, 606 AFER 26A QOR J9a 2Ias 8"

Correct Answer: 4) "QI8I 2RQI0Y Q6 IR JQ& FI0RRIA IR, 606 AAER 2I6F QOR J9a@ 2128 /"

Candidate Answer: 2) "GicIQQI 2RI R6Q IR J9@ SI0RRIRN JRLl, 606l AANER 2I6F QOR Q@ 2ILRE!

aQ"

QID : 34 - ( . ) RIFIR 6RAR YREQER ZYAI°E AFAER 6615~ @@Q@Q 2legR &Q
6QIRAIR2IN|

Options:

1) Q6a6Q€IR, 40QR, IREY

2) 6060661617, JOQR, J6AUEREIR

3) 676@66)617, TIQEQ, IR

4) Jeareadq, IQEq, 4gR

Correct Answer: 3) 6664619, AIREQ, JOQR

Candidate Answer: 2) 6J6R6661Q, J0QR, J6AUEREIR

QID : 35 - gIFIQ ALIRQI Al FENGE FRIQ 6RE! 6RIIIR RRIR FRUAN QIQ?
Options:

1) R

2) 9Q6019Q

3) 6Q6eER
4) AGCRGFARR

Correct Answer: 4) 20GRGAINGE

Candidate Answer: 1) G@°

QID : 36 -
612N

Qa0 618 @ 6J-01aR 2I6dIQ 266, 6a626R 26 ARINEQ A% AEY 219g 610




Options:

1) GoqQ

2) AERQ

3) R6H162R0Q

4) QgNaQ

Correct Answer: 1) G0gQ

Candidate Answer: 3) @636204Q

Techofworld.In

QID : 37 - AIRYQ ARISR QQT6a 2a6agl6rs] @617

Options:

1) GRRIQ ARIPRINA AN ZRINER AN JRFRQ JRYIFE

2) ARAIOIFIRE QIQl AL @°AIRARA 6294 2RINER I G FRiIEe

3) §igel QQG! 6A2IL IRARD ZIRIRER AN JRFRQ FRYITE
4) AflIe geIem il a9 QeI 62RQl AFIR JRIA QRAGEY IR FIRE QA 980 @RI A] JRIFR QS

Correct Answer: 4) Qdle ggllon1 AR A9 24IZl 6QR2Q! AAIR JRIQ QAAGEY Y@ FIN. QAR 986 QR0
AR gRIFR @R

Candidate Answer: 4) Q7 ggion1 dil 99 F4IE 60RQI AFIR JRIR QARG IR AINE QAR 280
R0l @] IR @AQ!

QID : 38 - D6F)IQ FRIQ 6RGE AIRYY ARYISE RTRI 2A6AE6A1E] A I 2RI 2662

Options:

1) 9@ SMIENAING 2GRS 01Agg RN

2) 5igeslen SMIIAING AIREINR KR 6091 IAR6R 699 "AIAI AIR SIKIRIR” (teaching to the test) @RI
3) 8gQIa 218 Q1FE 6RIRRIN

4) QUeQIg AFIY ARy

Correct Answer: 4) QJ6QIQ AAg QY

Candidate Answer: 2) §R&¢l6R AQUIEIAING UALIAR KR 6001 IQ6E 69QR "R IR FNQIR”
(teaching to the test) @Q2Ig

QID:39-_____ dREe @8l fRIQINA (R Q& 266
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Options:
1) IRREIEQ QYT
2) QIQQI 61§

3) 2GR
4) eEIn6R Ao

Correct Answer: 2) QIQQI 61§

Candidate Answer: 3) 29Q

Techofworld.In

QID : 40 - GRYIFAER FEFIQ FRIQ 6RLT, FIOMIQ Q 614 AERE!N?
Options:

1) IRIFAQ CelIiel APIF6R FNIENAING REIRQ!

2) QAYIENAIRG QT 2QANIR AR 6AFIRE g0 QRN ARQ!

3) 6a7IPEQ YA-FRYIAR QIFEg FR8E QAR
4) 3YIENAIRG 698! 699

Correct Answer: 2) QYIEZNAIRG QT 2QARIR @R 6AFINE g6 QNP *QQ!

Candidate Answer: 1) FRIFAQ 2NIIO! AMFEQ FQUIENAIRG REIRQ!

QID : 41 - O QIR 6mEI; AR AR Q62|
Options:

1) 7R QI& QU6 Q6

2) qlIg QI8 Qeag Q6.

3) FlIg QIfieq Q6R

4) AR QI8 QIQI Q62

Correct Answer: 3) ¢lI@ QI5i6Q Q6@

Candidate Answer: 4) ¢Ig QI QIQl Q6@

Page |48

QID : 42 - Regig QIRY A6l AV, IQ° F6ACL AR 6MEIR | AR IQ° ¢ 60IR6A FEAR §liene 6a¢/RIg AIRR
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Options:

1) SR O 1e° ¢ PO g4l6FIE] 606iQIg AIRSR, Y6, AQ- 607IRER |

2) 999 9O IQ° ¢ 6Q6[QIg AIRYR, F6UL, AQ-607IR6Q FEOR gEli6re)l

3) QUL gaE \IQ° ¢, F6ALL AQ-609IR6R FEIR g4ll61E] 696/ QIR AIRSR |

4) B0 gOR IQ° ] FEOR 6Q¢/QIg RSP, F6M, AQ-6071R6a gllens] !

Correct Answer: 3) Q@4 gaR 1e° ¢}, F6AL, AQ-609IR6Q FEOR gElI6F1E] 6Q6(Q! Al AIRYR

Candidate Answer: 3) Q@0 gaR 1&° ¢, F6AL, AG-60IR6Q TR g4lI6rE 626/l Al AIRYR

QID : 43 - Rg6a QRUARLR! QIRIQ JRIR 6MEIQ | I8 §F AI6l Q6F1 @'l 6AIRAI AQS ?

Options:

Techofworld.In

2) AR QIRY
3) 9§QIoR QIRY
4) 990QeR AR

Correct Answer: 3) J¢QI0R Q@Y

Candidate Answer: 3) J¢QIO® QIRY

QID : 44 - R76Q GOIR PAARYR! AN QR | JRIP AR TR AU OF AINY 9AR FAQ | 64 6I1E6R RIEQ
604); 60 Q1IQQ 62QI§ Ol6d |

Options:

1) 64 GNEERA P16 KL 6d V66l MIPR 62NY Q6w |

2) 64 G106Q RI6E RIS P66 QR 62UQ Ql6g |

3) 64 61106Q RI60 IRl 64 64 R66I 1IQQ 629Ig Qle@ |
4) 64 G106Q RI6E A2 6d P68l RIQR 621G Qleg

Correct Answer: 2) 64 6l106Q QI60 RIQE @66 QR 62UQ ol6g |

Candidate Answer: 2) 64 6l06Q QIEQ RIQE R66l QR 62UQ ol6@ |

QID : 45 - QIQIQ BF2 QVIQ MIART 6QIR QRIAN ?
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Options:
1) 6alTRIEl AIQIY
2) g6ag F1RI9

3) Q1R 67120 6QARIAG
4) QRIRIE QUL

Correct Answer: 3) TR1Q 67120 64QIA0

Candidate Answer: 3) FQ1Q 67120 64RI106

QID : 46 - 602G QY AIRYA AILIFRYIRL, CIFFRIP 67162Q FIRIBRYIRY, FIFER AIFE 6aml ?
Options:
1) 1949

2) 1944
3) 1947

e Techofworld

Correct Answer: 1) 1949

Candidate Answer: 4) 1950

QID : 47 - 19556Q 66lI01RIEl ARIPF QAR AR AIFl Q61 ?
Options:

1) dQ QI8

2) RIR1A10 gagIQ

3) ARGY YRIERN gagIa

4) g. 5. @ QoI BRI YRAeNR 6meil AR 6FIEMAY

Correct Answer: 3) dI@64 IRI6Q¢11 JRgIQ

Candidate Answer: 3) QI@64 IRI6RF1 JQYIQ

QID : 48 - 626 J2¢ ALY AARMIL AFQAINE QIQl QAR QIVIE 66ITE QUER 2IRIRG SRl ?
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Options:

1) 60Q01

2) 92 €161 210 g

3) 0IQ gea

4) 60666 6716QQ

Correct Answer: 2) 22 (161 2IO gJé]

Candidate Answer: 2) 22 €16 210 ¢Jé]

QID : 49 - B6C)IQ FRIQ 661IATRIEl FRIPER 606 AURYIA JRREE gIFER JRREE F19R AL AgIE ?
Options:

amwe  Techofworld.In
2) CIF AFIR 9Q° RARR b

3) 9R AEQ 9Q° AIF ARIR

4) 20RR 9Q° QAR

Correct Answer: 3) Q@ J2Q \IQ° AIF AGIR

Candidate Answer: 2) €T ¢61R 9Q° 206

QID : 50 - 6QQ FIRIPR QIREEINER @6l QYIGHI 6IRE ?
Options:

1) g1 FR0Q Q@ T°IIRQ ORI Q10g ALIJQ REIQIRIF AR JOYIQER |

2) B4 REIAQ Q|°q§@ 2QY, 6606Q6R 6AIRQE S1GIR16Q, BR6I AR JOIJQPERR, QYERQ QAR AR YRR
JQIR 6QIRCJEM |

3) IR QAL 6J606Q6R 98 AT AR JO6R M, 2Q68 QI AR 9Q° BRIAR A°JRINER FAURR 62l |

4) ¢ReQ QRIAQ 6

Correct Answer: 1) ¢o1 FRQQ R &°RI9rQ ORI 10g ALIJQ FERIRIEF AR JoYIRER |
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QID : 51 - g¢ F¢) G146l RIS | IR4PETY AR IQ° B I6FPR aaa dag|

66 od ¢f 9@ 6qIQea 366 621N, 67160 QIPASIRIEa 62 FRT6 62919 62AI1 6a0I6R F12R 9RaIA 6a16d
gIe RZIQ 67160 ARIQE GIF6R QElIsIRI 1 661l S OIQ 2Q6 QRER P66 6QICH 2AARIM, 2QFIER I9° FIGASIRIR
GIIRYER 2JeM | JIOSERIRAER 64 AR KR A2 QRTC 26) Qe Qg 1T IR AFQ K68l AR PAFC AR
6QGQIQ 2GR, 6ARAPI GIEF J2), IRQRF| B 6QIAIR TR SIFACIER AR AR AIRE ARRI T6R 6a
6K606Q6R 2GR Q1 REIR QAIRRT IRl AQEQER 661N 26) Qgleem | F6R PIGRSIRIQ 218)l 6AIISER F2g]
62mI \I9° 2IFIQ I8 Q47 REIR AIR 661N 28] AIREM | 6d IQIQ 26Re A, AR 6PR6R, PR AIP6R A6
6QQI6l REM IQ° IRITER QEJERER | 6a 6ARIPI QAIFEA CIF AT QIRPQ AREHRS! DEL 2R |

GIRYIPEI6Q Q1RO 621R2QI ‘2RI, §O'Q 2 @817

Options:

w1 echofworld.In
3) QQé Q4RQ
4) QAR 2Qg

Correct Answer: 4) QQQ14,2Q4

Candidate Answer: 2) 264Q @QQ 294l

QID : 52 - g¢ B¢ 646l ARG | IRPEITY ARG 9° BF] J6JPRa aaa Faig|

610 od ¢ IR 6qIREa TOO 621RgR, 6FI60 FIFASIRIER 02 SRTE 62919 62RI1 6a0IER F12R FRaIA 616
dIe R2JIQ 671160 ARIKE BIFER QSIGIRI 671l 14 OIQ 2R6 QAR 66l 6aICN 2RI 2QIER IQ° YIQASIRIR
SlIQYER J6M | JIOSERIRRER 64 2R KR A2 QAT 2E) AIRER| A 1T IR *JA K68l AR PATE AR
6QGQIQ 2IgYM, 6 GIF g, IRQF B4 6QIaIe TR FIRAFIER AR AR AIRE ARRI A6R 6a
6K1606Q6R IR Q1 REIR QAIRRT AIcl AQEQER 66l 26) QgieeR | F6R QIGRSIRIQ 28]l 6AICISER F21g]
62MI \IQ° 2IFIQ 9@ Q4G REIR IR 661N 28] AIREM | 6 QI 26L& AL, TR 26PR6R, PR AIP6R I
6QQI6l REM IQ° IRITEQ QEJERER | 6a 6ARIPI AIRER CIF A6AMI QIRPQ AREHRE! FE YR |

6RO RER FIZR CIgA HIRIER ORTE 62RREM?
Options:

1) 62 QIGAEIRI F1VAQ AP 671G SIFLEM
2) 60 V8 294 2J6m

3) 62 Q@ AIFIRG QPERIEIQ 2R CASNAING A2 FUQIE FRARIQ CIF6R
4) 60 9@ QIQAN QI IFYEM

Correct Answer: 2) 6d Q1961 294 2J6m
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QID : 53 - g¢] A¢) QY6 ARITE | GR1PEITY AQQ IQ° AF IgFPea aaa Faig|

616 Qdl ¢ I@ 6qIR6a JFC cRIRYM, 6166 FIGRSIRIER A8 ORTE 6291 62MI1 6a0IA 2R BRQIA 6al6d
e R2JQIQ 671166 ARIRE GIT6R QBliIR | 661 S OIQ ARG YRR K66l 6AUGN QI 2QFIER I9° FIQASIRIA
6llQY6Q 26 | JIPBEARNRER 64 2R KRA AR QAT 26 AR | A MFF IR *JQ K66l AR PAAC AR
6QCQIQ 2GR, 6RARIP QI G2, IR BE 6AITIR TR IGRAIER PR AR QAL AR A6Q 6d
6K1606Q6R 2GR A1G REIR QRRT Alel AQERER 661N 28] g6 | T6R FIQASIRIP 26l 6AICISER H2lE)
62MI IQ° AR I8 Q4 REIR AIR 66ITNI 26 AIRER | 6 QI 2ere AR ATIQ 6PR6M, AR LIE6R 9AI6
6QQI6 PEM IQ° ILITER QEERER | 60 6ARIPN AR GIF A6AVI QIR QIR FEYDL IR |

A PAFeQed QIgAsIRIER RINTA ABE 66 *AQIQ 2I6d ?

Options:

ewe ] @chofworld.In

3) @661 Q8 QG
4) RGP RER

Correct Answer: 2) @661 6216 dml

Candidate Answer: 2) @66l 681¢' Rl

QID : 54 - g¢] A¢] QYA ARIBE | GRPETY ARY IQ° A7 FGFPeR aaa Faig |

610 od ¢] IR 6QIR6a JP0 6RIREM, 67160 FIgRSIIRIEa a2 6T 629Ig 62RII 6d0I6a 2R §RgIR 616
gdie R2JQIQ 671166 ARIRE GIT6R QBRI | 661l §IAY OIQ ARG YRR K66l 6AIGN AARIM, 2QFIER I9° QIQASIRIR
6lIRY6R J6m | QIPBERRRER 64 2R KRV A2 QAT 28 AIRZER| Qg 18] AR da F68l AR PAFE RIFER
6QCQIQ 2IgeM, 6ARIPY I gl IR BEl 6AIAIR ORI VIFRAIER AR F& QIAg AR J6a 64
6K1606Q6R PRI Q4G PR QRRT Alel AQERER 661N 26l AR | T6R FIQASIRIF 2l 6AICISIER F2le)
62RI IQ° AR I8 Q4 REIR AIR 66IIGNI 218 AIRER | 6 QI 26 AR, ATIQ Z6PR6M, AR L106] 9AI6
6QdI6 REM \IQ° ILITER AGERER | 6Q 6RRIPY QATER GIF AV ARRA ZIQEIRE! L YR |

IR 62691 AR TRIT PAR | AMQ 28] ARER FLR EATIRI FIR6ER FIRGE 606 SRR 421
RAARARAL ?

Options:
1) 2I98¢)IQ
2) QARG
3) aIg

4) 2199

Correct Answer: 4) 2I§4
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QID : 55 - g¢] A¢] 4161 ARIBE | FIRIFETY AR IQ° Y] IFIPPR e @ag|

610 od ¢] IR 6QIR6R TF0 6RIRER, 67160 FIGASIIRIER AR STE 629Ig 627l 6d0IER 2R SRR 6R16T
gIe R2JQIQ 671166 ARIRE GIT6R QBRI | 661l §1A4 OIQ 2RE QAR K66l 6AIGN A1, 2QYIER I9° FIGASIRIR
GlIRY6ER J6m | JIPBERRRER 64 2R FRT AL QAT 2E) AR | A 1T Q1A *FQ K66l ARG FAAC AINER
6QGQIQ 2IGR)RI, CARIPY I G2, 1@Q¢| B 6AITIR TR AIPAAIER PR PR AL AR A6R 62
6K1606Q6R 2GR Q4G REIR ARRT Al AERER 661G 28] AgEER| TR QIFRSIRIG 21€) 6AICIEIER 24
62MI \IQ° 2IFIQ I8 Q4F R FIQ 661157 21 AIREM | 64 LI 26R@ AR, AYQ 26RAER, AR 2IE6Q A6
6QQI6l REM IQ° IRITER QEERER | 6 6ARIPY AUTER CIF AR QIR ALK FELAL 2RIR |

QUEAUQ F1QYI°6l QIR QATER 6RFF ?

Options:

e 1ecChofworld.In

2) QIgQSIRIQ AARRYE! A6
3) Q19 QIAQY QTR
4) JRAQ @A 96 QU6

Correct Answer: 1) @4§q 0@ 692 Qd6a

Candidate Answer: 4) QR®Q QA9 §6 QI

QID : 56 - HYJ6R GOIR FAAIRRYQI FIVITY ALY 1° B¢ PR Aaa d21g |

Q6RRAGN ORQ 2IARI ¢ 64 01 6248 64 @ FIFINI CAIRE AR 019 TR PRl ¥El 19 69169R ARl

o' J6Q 69 PIRQ Jam! JRUIER 29I AIAQ FEER FEER AR ATAQ 60 SIRAR ARIQ 6P AIY 699,
RARR 2ig6a 64 6QgiMI, AIRI AQEL Q4 M - AR AN AIR AR Bgelem, ¢ AR, 64 ©1 6N 78
6Raml | -

aAIcIag 2IgR 0geRl @RI AR ¢Q 5g6 ARl Y JRIAGAIER,AXIZA §RQ QD6R, 600G F10Q ALQeR

9@ QQ0I6R @6l QAIAIRE ?

Options:

1) ARIGN S1QY 661RQI AR B A8 AR AIQ FRA, AR 696R ITIQ 661R1 |
2) @8 9Q° P6RATN FrIER ] 64

3) 661G\ P6QR ARIQ 6QIQ QR
4) 96eRGN 60IR SIRAIQ QAIL, &gR

Correct Answer: 1) QTGN 6IQY 66IRQI AACER AFI AN A2 QIQ FRAM AR 6967 RITIQ 681R1 |
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QID : 57 - Hg6Q 9RIR *AUAIRYR @FCITY ALY IQ° 7Y 4ggLea aar @ag |

6RRGEN O AR ¢] 6 01 6Q¢R 64 A RIEIRI CART A PIf TIR ARl 8 OIf 60169R GIR|

o' J6Q 64 R JaMl RUIEAR 29I AILQ FEER FEER AR AR 60K SNSRI ARIQ 6212 AU 621,
RERR 2GR 64 6Q¢MI, AR AQ2UEQ 4 Ml - 6AgHR QAN AIR IR BE26M, ¢ AR, 6Q O1 6QEIFN 78
Qcmaml| -

AIcI0g IR Q2RI @RI AR §Q 596 IR Al IRIGAIER, IR R Q06R, 646 F10Q LR

@ Q90! AQN6R A9 QLR qRUIRHS QRAAIRE?

== Techofworld.In

1) RIQ6 ARIQERIQ AIA QAUER ALREA FLE 62IRANAR |
2) RIQE P6LRAIER 2| AUER 6PRAIRER |

3) QIQE QIR 2AQAIE AR |

4) QI8 96QR IAQ FIRQ AIRAIRR |

Correct Answer: 4) @106l 96QR QIAQ RIRQ ARAIRR |

Candidate Answer: 4) Q106 96QR QIAQ FIRQ AIRARS |

QID : 58 - R¢j6Q JRIR FAIAIRNRQI FIITY ARQ \1e° AF] GPPeR AR F2ig |

Q6eRGN OnQ 2IARI ¢ 64 01§ 6268 64 @ RIEIR CAIRTI AR CIf TIR AR V8l OI§ 60I69R GIRI|

o' J6Q 64 RIRQ TR JRUIER 29I AILQ FEER FEER FIR AT 606 SIS ARIQ 6QIPY AU 691,
RERR 2IE6R 64 6QgM, QIR AQ2IEE 1Y ! - 6AFHR AANTE FIR AR Fg6R, ¢ AR, 6Q OI 6REIFN 8
6RAMI | -

QAIC0Q IR SR BT AIR ¢Q 56 AR A¢) IRITGAIER,AUIPR 9RQ QDR 6JFG R10Q JLQeR

12 UIF6Q Q1Q2IQ ARSI 09, '69gPR QNG AIR UR Dgejem’ el Me___ |
Options:

1) 2Q0IQ
2) Q@
3) 2ggiQ
4) Qe

Correct Answer: 4) QQell



QID : 59 - HFj6Q JRIRP RAAIRYQ KFOICY AR IQ° AF] JgYLaa aaa Q2 |

069R6N Ong IR ¢ 64 01f 6Q6R 62 @ FIEIRI EARTI AR OIf TR AR KEl OIf 601690 G|

ol A6 64 FIRQ TR AUIER QI VAR FEER FEER FIR AIQY 606! FINGIAI ARIQ 62IQQ AIYI 6QIY,
RERR 2GR 6 6QgM, A1 AQ2ER 1Y 2RI - AR AANE AIR AR Dgl6em, (] AR, 62 GI 6QEIAN 18]
6RaMI | -

aicag 2IgR Rl @RI AR ¢Q 596 ARl AYl IRIABAIER,AIPA @RQ QDM 6080 F10Q AR
1@ IF6Q YRR FRAUARSQI 0@, ‘64 OI'A 6REIF (6] QRIAMI IR, |

Options:

1) 2901

g Techofworld.In

4) Qe
Correct Answer: 2) Qd@

Candidate Answer: 1) 2Q0IQ

QID : 60 - H76Q JRIRP FAUAIRRYQ KFOIY AR IQ° AF] JgYLaa aaa dag |

P6eR6N Ong IR ¢ 64 01f 6RR 62 @ RIEIRI CARTI AR GIf TR AR FEl OIf 60169R G|

ol A6 64 RINQ TRM GAUIER QI VAR REER FEER FIR AIQY 606l FINGINI ARIQ 62IQQ AIYI 6RIY,
RERR 2GR 6 6QgMI, I AQ2ER Q4g Ml - AR AANE AIR AR Dgelem, ¢ AR, 6Q G1 6QEIAN 78]
6RMI | -

AIGI0g 2R QYR @RI AR ¢Q 996l ARl BY IRITBAIER,AIPR §RQ Q06EM, 6AA6 MR A9QeY

6618 AIFER “R1RR6Q JRIBR" 10Q 28] @'61?

Options:

1) 6618 2IP6ER AR QPR 6dIRNIg F1AQ LAl AL @RAI FRRY |
2) 06QRG JIEl 85I AR AP A8 IR AIA QTR R |

3) ARIFOIER 2RI AIF, 604 A BCRIR AYE
4) @G0! AQAIN AN ALR AR AID |

Correct Answer: 1) 66181568 @@ QIR 6dl0NIg MAQ LRI AQ @RAI @RRT |

Candidate Answer: 1) 6618 1060 @@ QEQIQ 6dIRTIQ A1 AL @ @RAI FARF |

QID : 61 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. He work/ for the government on
a /top secret project.

Page |56
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18-Aug-2019 Shift-3™

Options:

1) classical learning
dIesae sl

2) insight learning
2g8Qy aal

3) observational learning
10”6 Age1Q, Sl

4) latent learning

2g@e dal

Correct Answer: 2) insight learning

2g8Qq aal

Candidate Answer: 2) insight learning

2g8Qq aal

Techofworld.In

QID : 3631 - QUYIA F6IREIE B AIAR RIPR IR g2l AUVIQ FITIG 9RAI AIel BE) ALY IRl ————Q RIR
Jele @QeIN|

Options:
1) GRIQR1
2) YIRQE
3) aoe
4) [l

Correct Answer: 2) QY@Qél

Candidate Answer: 1) 6QIQ®1

QID : 3632 - AFMGE FUQ 6REICY IR 6AIGIEKIS QRPIQ B0 RED F690R! FRAAIRAEIN ?
Options:

1) QUIRQEICIE Q-G

2) YI6eRR QG

3) 6AITCAGTRFR VG
4) 6QIRIQNIA Q]G

Correct Answer: 4) 6QIRIQAIA QYOI



QID : 3633 - AMEE FRIQ 60610 Y@ AFAYR A16 AUER F6RER! FAUAN?
Options:

1) 2190 678l

2) Q124 678l

3) QR MGIR

4) QU6QIQ AAg

Correct Answer: 3) @4Q RFIR

Candidate Answer: 4) QJeqIq 49g

Techofworld.In

QID : 3634 - 67G1RGRARG ——— Q6U AR QIR FRUAIRRIN|
Options:

1) “0@QI ageea dal”

2) "oge Qaea 6gR”

3) “00Q Age6R A0K”

4) "898 Aqe6eq fx8”

Correct Answer: 4) "€Q6 AQ96Q &iQ8”

Candidate Answer: 2) "Gg@ Qa06Q 690"

QID : 3635 - ——Q Q4QQIQ PRVIQ ARG JOTRE FALIN G QRT QITIER AR JIIRQ AILING IR AN

QQQoIg gOTRe eaRIN|
Options:

1) QRRGFAAR

2) 62136 RgFaIR

3) RGN

4) A6RIRGFAIR

Correct Answer: 1) QRRGF2IR

Candidate Answer: 3) (IRGRAG2IR

QID : 3636 - ——— QI QIVIY Y@ 6AGIEAE §N ARIAER MIQRIQ FPAUIR2IN?

Page |58



Options:

1) 8@

2) Q3 i’

3) R

4) Qeg4ae

Correct Answer: 3) 4@

Candidate Answer: 3) dR

[ echofworld.In
QID : 3637 - 6R606Q6R ‘T-66F" ARRR FQUAIRRIN?
Options:

1) 9@ QIOYPF ARRER FEREINT IR T6Q

2) & Q104911 APIR6R PEREenT 4oIR 4OQ

3) AOR g A6

4) QRW, (MR JI0YRF AMRER PERERT 4o J6Q) B (AOR IR AAER)
Correct Answer: 3) JO® J@Ql QA6

Candidate Answer: 4) QW (M@ IOIPF AMRER PEREIRT JRIR J6Q) B (A0R IRl AAA6R)

QID : 3638 - J66'Y6R AR ARRR 6RAR -——— —1 696 906 a0Q ?
Options:

1) 926 04

2) Q4Ide a1l

3) oQ

4) 6q/q Q1de

Correct Answer: 2) Q4@ Q1¢ll

Candidate Answer: 4) 6g/q Q186

QID : 3639 - P6AE AATEA B GRIIFR 6RE6 ZRINER IR FQRIN ?

Page |59
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Options:

1) F6A10Q 2R
2) P6CI0Q 2IRRR
3) ARCQ 2AIRRe
4) 6R60I5Q PR

Correct Answer: 4) 6Q60IGQ 2I9RR

Candidate Answer: 1) T6(16Q 218R0

Techofworld.In

QID : 3640 - J-65§° 6208 1@ 2SR AR, 6a6E 696l A6RE! (AFR)6R PRSI ?

Options:

1) Y@ QA S84l 2107 8RQ! din fIRFIREa FRY ea0! Q88 @ AIF cIelg Adias Qae!l

2) 6AIRRIARS FeUEIeR1ER RIGAIER 606l Adig CAGI PIAR QALY CIRIg ASIAE *AC!

3) IRAIPA QG 2IRRE AR

4) QeK (Y@ QIAI §ig6l 2100 @89 diel fIRAIRER AR QAGI QB8 & AIZ 0199 A8 QAR B (CAIRRIRS
Redslon1en 21eFl6R 696l Adig CA0! 2IAR ALY CIRIg AIRE @A)

Correct Answer: 4) Q4 (Y@ QA §iQ8l 2104 AAQ! JIR RIGFINGA FRY CAO! 028 & AIF clRIg FTIRE
QAQI) G (RN FeEaIONER IgFIER a4 AdYg PR0I PIAR *ALY CIRIg ATIRE @l

~es

Candidate Answer: 4) QA (Y@ QI8I 5iQE 2104 FAQI AR RIGFINER FRY CAGI 088 @ @ GIIg AFIRE
Q) G (RN PeUEIIRER RIRFIER 604 YR @R0! PIIR ALY CIRlg ATIRE @RQI)

QID : 3641 - QYA QAIRINER 2QLY QLR
Options:

1) 69

2) QYR8

3) QIal
4) Qa6RIg ang

Correct Answer: 1) 6@

Candidate Answer: 4) QJeQIg A

QID : 3642 - 12 QR ¢ @4 'Ag 67 PR IR B GRS AR’ ?
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Options:

1) &8 QC8I FAAEA O @A AR 986l FQQ

2) AI91 62IR AIRR AILIQ AARER @ 6TFAIR 28l AR VAL P 1 FAAER OPIRA AR 988 *AIR 6016 RIRE]
Qe

3) AQ OCIE6Q QIR 6RIRGER SIQI 2IQ ALYAR 6RIRAIRS AIE
4) QIY19Q AYYQ JAER FAMIR AR AI@

Correct Answer: 1) &8 Q¢ QAR O /A AR 986l @AQ!

Candidate Answer: 2) QI2| 62IQ AIRE ALY AARER A 6TAR 28l AR AR A1 6! VAR FQIRA AR
Q861 RARIQ 6x161d QI8 PIE

QID : 3643 - ‘R661 AIYQERE OIF 62616Q @¢] AFIP ARIN' 6208 9@
Options:

1) QAIQIQ

2) Q@

3) @6l

4) QO AR] (QUIQIR) G (@)

Correct Answer: 2) Q@

Candidate Answer: 1) QQIQIQ

QID : 3644 - AUQRR 60 AR ANEFEER 2R 26 FIPAN | RIS RIQ 60Q A4S A0R 26672
Options:

1) QAQR 60 6208 AWRY B AR’ 62AR AL

2) ‘AR’ 62a8 J661aY

3) '26 RIQAIA 62Q8 24,
4) '6AM6966'Q’ 6208 FIAR

Correct Answer: 1) QJQR 60 6208 AQERY B 2R’ 62AR 24

Candidate Answer: 1) QJ9R 60 6208 AQERY B ‘AR’ 2GR AL,

QID : 3645 - ‘CIQIRA FQY AR 6RGIQ @92
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Options:

1) PR 6F1LR 6ARIAG

2) QrIRIE UL,

3) eelaIRIRl ARIY

4) 460Q F1RIg

Correct Answer: 4) 4609 (19I9

Candidate Answer: 1) T@1Q 67120 64R100

Techofworld.In

QID : 3646 - RIRIQ JeIF 6AGH ZAIER BRI YRR G 6lSIRQ 2QAas @RI B J6Q ARPR BF2I YRR
QUIQEE 621 |

Options:

1) QRILIR QUL

2) 6aldIQIRl FIRIY

3) CIEPRIQ 6£162Q

4) TR1Q 67120 69100

Correct Answer: 4) FQ1Q 671190 64QI00

Candidate Answer: 1) QrIQI2l QU

QID : 3647 - AgREe 606 6mei@ Jeler QEPRI AITIER 6mEielem B J6a BH2 AITIER 6MERI 2IRA KM ?
Options:

1) QRIRIL QI

2) 6ligQ QIR AISIH
3) AeRIeER QIa

4) PR CI6RFAIIL,

Correct Answer: 3) ¢6RIQ&R Q14

Candidate Answer: 4) JOR GI6&FARIL,

QID : 3648 - AIPGY 68Q6Q ARSI 2R AR FIRGE 60Q AR 6REIRF IR PRI



Options:

1) Qg4

2) K910 gagia

3) @64 YRI6RT gagia

4) AQ QA8

Correct Answer: 1) AQgl1

Candidate Answer: 3) Q@64 YRI608 JagI

Techofworld.In

QID : 3649 - ACMGO 6R6 6MEIR/ @G R66l AFIR QYR FI1kl ?
Options:

1) QRIQIE QUL

2) 60l1Q1RI2 AIRIG

3) GIGPIIA 67162Q
4) IQ1Q 67199 6ARITE

Correct Answer: 3) G&PRIQ 6F162Q

Candidate Answer: 4) Q1 67127 641G

QID : 3650 - RGO 696 QARILE 66lIdIRIE ALIPE IRl 6REIIRG?
Options:

1) QQ-QQI8Q

2) 62Q10661R

3) @GQe

4) Qge°6ie|

Correct Answer: 4) QgQ°¢lf
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QID : 3651 - fgeq QARSI KR0Ig AeQ G AR BRIIRYSI ggQ aaq dag|
¢ 96 @AIg gau 21l Q8 AR 6Q¢R

698 2RF2I IR QA6Q 27 KO

\Q° 6816 JRIUF! QIgeeq

¢ 18 PI@ 61 Q6¢1 21 Q1 Gli2l |

6060 Za! - 610K AgQ Q6L

Y@ 66219 1 9Q° QIJ6Q

604 gdQ 26AA AR\, 6I606R6R AQR
oI FrIEQ AIRR

Qe 28I gElelea QIRQIq 218

210 QF 62a8 210

G121 6¢1Q QF, 671 FRA QG

0 216 QIRL Q7R 6061g 2IQIF G2
NOI6Q IR QRS QIR Q@

dRINea §aolq @19l 980 QAR QRS ?

Options:

... echofworld.In

2)gaaqge
3) 6QQ- 6AIQ
4) 202 gR

Correct Answer: 3) 64fQ- 6dIQ

Candidate Answer: 3) 64@- 6dI

QID : 3652 - RJ6Q GRS KAGIQ ARG G H6R QAR Jga aaq bag |
¢ 96 @AIg gau 21l Q8 AR 6QER

698 AP IR AJ6Q 27 *AC!

\Q° 6816 gRIG! QIge6q

¢ QI8 Q1@ 6Q Q661 621 QI gl |

6060 4o | — 611oR AgQ Q68

2@ 0211 | 9Q° QI6R

604 ¢AQ 2608 0\, 660696R AR
08 ClrIEQ Q@

Qe 28I ghigleq QIReIQ 218

2o QF 62a8 2IAQ

QIQl 671Q QY 671 FRA QAGIA1T

A0 216 QIS QIR 6061g 2IQIF G2l
NOIER IR QRS QIQER Q&

6060 QA AR RERIRINN JRITDY 69427 ?
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Options:

1) ARl

2) G AR
3) Qg AR
4) 218 2R

Correct Answer: 2) 0@ @

Candidate Answer: 4) 2:1Q6) 2@

Techofworld.In

QID : 3653 - AJ6a QKRR KR0IQ APY B RElEa G2IAIRR! JFQ Aaa H21g)|
g 962 @AIg gal 2l Qg MR 6Q¢R

698 2RG2 IR QJI6Q 2IF KA

Qe 6816 JRIF! QIgQ6Q

d Q18 Q19 64 Q671 gl QI &l |

6960 4o ! - 6oR AgQ Q6w

Y@ F15210 | 9Q° GId6R

60% gAQ 2608 A28, 6060696R AQR
o8 FrI6Q AR

Qe 21061 ghielen LIReIQ 28

210 QF 62Q8 2IFQ

QIl 671Q QF, 6710 TR QG

A0 2@ ARG QFIA 6261Q 2AUF G2
JOI6Q IR QRGN QIQEQ Q@

606 G52 @0 6RQIAECIN ARGI 6MIEM?
Options:

1) QRIRIR QUL

2) FRAELILR 6ARIA0

3) FRIGLR UG

4) Q60Q A1

Correct Answer: 1) QRIRIZ QL
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QID : 3654 - AC6Q QARSI KISIQ ARG G R6R FAIRYI FEla ARR F2g |
¢] 96@ QA1g gal 2 Qgll AR 6Q6R

698 2RGZ gR AU6A 2IF) A

\Q° 6816 gRIUF! QIge6q

¢ QI8 Q1@ 60 @671 g2 QI Gli2l |

6060 Ja ! - 61oR agQ Q6w

Y@ 60219 | 9Q° QIU6R

606 AR U6AA 0@, 6160696 AR
oe FrIEQ QR

NQ° 206G GEleiea QIR 218

210 QF 6208 2R

Q121 671Q W, 6711 FRQ AGR1T

A0 2@ AL QAR 6R61IQ QU G
NOI6Q 19 2AQDIQEH QIQER Q2@

Y@ 08

== Techofworld.In

1) QQTAIRGYQ! AICQGRR
2) @A

3) IR

4) AR

Q Q6lIag |

Correct Answer: 1) Q@QTJIRGYQI AIGAGER

Candidate Answer: 1) QQTARGYQI AICAGES

QID : 3655 - RF6Q QAAIRSYQ FIBIQ dRg 6 D6 BRSS! I aaa d2g|
¢ \96Q QAIg gau 21 Qg) AR 6aeR

642 2R02 gR AU6Q 2IF A

NQ° 6816 gRIUE! QIge6q

¢ QI8 QIS 60 @671 g2 Q! Gl |

6060 g ! - 61oR AgQ Q6L

Y@ 60219 1 9Q° QIJ6R

604 gAQ U6AAI 0@, 616066/ AR
o8 FrIEQ QG

Q@ 21061 gEl2ieq QIR 28

210 QF 6268 219

Q121 671Q @, 6611 FRQ AGR1T

A0 28 AL QAR 6R6IQ 2IQUF B
NOI6R @ ZAQIQAEN AR Q@

6¢1l QRENQ FRQ 22 @'61?
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Options:

1) @@

2) 2eQ

3) 08gee
4) g

Correct Answer: 2) 2@Q

Candidate Answer: 3) 62go®

Techofworld.In

QID : 3656 - A¢J6Q QAINIRYRI AP PP G FYER FAARR! IR AAQ F2P | ARGEA A RA ERIRAING
diR 6P RQ1 @ AQOIQ AFQ A1 2661 IRIQ AIGI B 6291 Q6d JRI *AUIAIRIN | ¥2I 698 A AY AIRGTAR
QIR Rl @ R19R 66l 266 6AARIER 6300 QY AR Y21 QJ6a Fea *R2IF | JRIFE A8 2RINEA CIEFI
Q1R GRJ1A Q1A AQ0IQ 99 AR11 ILI ARER AQOIQ 1A FQ11 GIsF RR1Q JIEIQ AJ6AIT FREASR,
AR \9e° FIR UAQI il *AIAIR2IN | 616 Q1 QIRI AT GIsPl @ J21R AQVIQ ATQ QA FRIQ 2RSS | 9@
RIQ6IQ R2IQ IR, 10% 6RIRA°GHI Y0I6R QEY ¥e° @190 AJIQ *R2IF | CIEFIg ARSER AQOIQ 2R IR
PAUAN | B BRI LI 60 AQOIQ 2R YRl ARYRI R 6RIRLRI A6Q 12! AQOIQ AAAYIR 266 1 960 QY
deaQ Q66 9Q° AR 2IRERI QIR AQIRE GHIERA 98| A AYITe 62IReIN | IBAQ QIREIQ GItF FEQ Q8
aQoIQ 2y 9986 AQ11 GiePl RQ1 JQAEl 6221 2IR IR JF6 IR 6208 YIRIA R6R 29I 6RIRMI AAR AIGIR
Qe QI2IE g6 @d 6] 67 6RIARIG 6AIFRIY G AICE 9F FRRIF | 921 964 AIGiea A8l *Q1g AIREIN | AR 6
J06Q gQasIg @ @AQI I9° CIeF RQ1Q JASARIA FAQIA QA ZIQEA0I QR | I8 QRN a8 @RI AR,
QAR AARIA “PAIA GI66F" 6gIgIF RIFER Y@ RIJIgA 2107 @ARF | I8 RIJI9AR el 380, 62a8 J649R
JRIRAI, R1Q YNITIR QYR @AQI, R1RAE, ARATEAR FRIE Ie° RRAEERS! |

QG GI6Fl QO1, QR A1 6QE! 2AQAIER?
Options:

1) QIEiQ ARl 2gaI6Q

2) QG AQAIR

3) QIR gI9Q 6344 29al6a
4) QU6QIQ AAg

Correct Answer: 3) J2IQ g9I12Q 66d4 294I6Q



QID : 3657 - A¢6R QAR AP ALY B FI6R FAARLYQ! JFR AAR F2AQ | ARGER RA AV ERISAINET
dIR GI6Fl Q1 Y@ AQOIQ A A1 266 | IRIQ AIBI B 6991 Q60 IRl *AUIRRIN | Y2 698 A AY ARSI
diR £} I Q190 6a6l 266 6JQAIER 630RR RIY AR 92! AU6R FEa @RRIP | 9IS Il 2RI SIEF
Q1A J2IR O14 AQ0IQ @Y P11 QI ARER AQOIQ Q1O RR11 GIsF FL1Q AIFQ QI FREIOR,
AR \9e° AR UARI AR FALIRAIN | SI6F A1 QIR ARG GIel QF JIIR AQ0IQ QAR QA FRIQ ARYEE | 98
RIQ81Q @R2Ia gIK, 10% 6RIRA°EI YOIER QEY I9° R196I FFle AR2IF | CIFig AIREER AQ0IQ 2@ I
PAUAN| Bg FegRI 9l 60 ag0IQ 2@ JRI AIRSIR FA1 6RIRZAI A6Q 12l A01Q YR 266 1 92J6R FQY
A2QQ Q6QYI6 I9° ARQ1 2IRERI QIR QIR CHIERA 12 FNg AYTE 621R2IN | YBAQ QIREIQ CIeFl g Q8¢
aQoIQ 2@ 9986 QA1 CIgFl Q1 JQAEl 6291 2IQ @ g8 QIRsl 6208 IRIR §R6R QI 6RIRRI QRS AIGIQ
Qe Q12@ g6 @d 6] 61 6RIRAIg 6AIRRIR G AIE 9F @R2IF | 21 96 AIEiea F8 Re1g AIRAIN | AR SId
J06a ga6Ig @ @AQI 1e° CIEf RQ1Q JRSANIA fAQIA QA 2IRENR0I Q88 | I8 QER64Q Jas @a! AIR,
QARG AARIQ “PAIF Gl6er” 6dIgIF AIFER U@ QIR 210A @AY | I8 AITI9Aa g6l FaM, 62a8 J64R
JdRRIRA, PA1Q YNITR JAYIQ KA, R1RAE, AQATER FRIS I RRIEEERS! |

6RIRM QAe AIGIQ Q8 AR CIsFIg 9986 @Qeg?
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1) QR AIQY FYAR @]
2) N QIele 9F @A

3) 9940 9§
4) 29J0I00 KR AFIAR 8]

Correct Answer: 1) QR IgQ AFAR @7

Candidate Answer: 4) 290000 @79 AYIAR @4

QID : 3658 - Aq6R F2AARYQ! AP ARY B FIER FAARLQ! IR AAQ F2AQ | ARGER RA AV ERAIPAIRET
QIR GI6Fl Q1 Y@ AQOIQ AR A1 266 | ILIQ AIBI B 6091 R6Q IR *AIIRRIN | 921 698 A A ARSI
QIR ARl IR R1QR 606l 266 6AEIAIER 630RR 1KY QIR Y9I AJ6R FEQ @RRIP | 9IRE QI8 2RINER CIER
Q1A IR O14 AQOIQ QY AR1I Y9I ARER AQVIQ Q1R FR11 GIEH FR1R AIBIQ QA6IS FREIOR,
0920 9e° AIg AAQI AR FAIRRIN| GIEH Q1 QIR AFE GI6H @F Q1R A90IQ AGQ QA FRIQ RYEF | 98
RIREIQ R2IQ gIF, 10% ERINA°EHI YOIER QAP Ie° F17Q! AJIR KRR | CIEFQ AIRGER AQOIQ 2K I
RAUAN | Bg FEYAI 921 60 AQ0IQ 2RIF Rl AIRLRI AR 6RIRYRI A6 121 AQ0IQ AVAYIR 266 |1 \926a QY
APaQ Q6RYIG 9Q° AL 2IRERI QIR QYIRS CYIERA 12 g AYEE 6RIR2IN | YBAQ FIREIQ Gt gR At
aQoIQ 2@ Jo86 RA11 GiePl RQ1 QU6 629IQ 2R IR Jg6 RIRS 6208 I2IQ 9R6R 29I 6RIM REe JIGIR
Qg Q1@ g6 @d 6] 61 6RIRAIR 6AIREIF G AIEE qF @RRIF | 921 96 AIEiea F8 RC1g AIRAIN| AR siId
go6a 99U Re AR IQ° GIEH FR1Q JRSANIA FAQIA @AY AIRENREI ARRE | I8 ARG JRs /AR AIR,
QARG AARIR “PAIF Gl6er” 6dIgIA AIFER IR QTR 210A @AY | I8 AITIgAA g6y FAM, 6208 J649R
ABEIRAI, RQ1Q YNGR AAYR KAQI, RR1RAE, ARATER RIS IQ° FRAEEERT |

‘PFIF GlI6EP'Q AEREN @617
Options:

1) @7 6RO
2) J649R ARIRA!
3) QR1RRE

4) QasqIg AFg
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Correct Answer: 1) @0 d600R0!

Candidate Answer: 4) QJeQIq QA

QID : 3659 - Rqea F2AARRQI AP AQQ G AR F2AAIRRQI IFR QAR F2Y | AAGER R AV ERIRAING
IR GI6Fl Q1 4@ AQOIQ AR FQ1 266 | IRI AII B 601 R6A Rl FAITIN2AN | 2! 638 RY AY ARG
IR F)I IR R190 66l 266 6ALAIER 630 QIY AIel Y21 QJ6R LR @B2IF | 9RIZE I8 ZIRIRER CIEFI
Q1] 1R QO14 AQOIQ 99 FR11 YRl AIREA AQ0IQ Q16 FR11 GIsk FQ1Q AIEIR QUEAIT @REAR,
AAQ2R Ie° AR UAQI Uil @AILIRRIN | GI6F Q1 QIR FFE 616k QA J1R AQ0IQ QTR QA FRIQ 2ARYEF | 1@
RIQ61Q @R2Ia gIK, 10% 6RIRA°EI YOIER QEY I9° R186I AFIe AR2IF | CIFIg AIRGER AQ0IQ 2R)S e
QAN | g BRI 121 60 AQ0IQ 2RI@ IR AIRYRI AT 6RIREIRI A6Q Y21 AQ0IQ AAAYIQ 2661 9e6a dAQ
A2aQ Q6RYIG I9° ALAT 2IRERI QIR QYIS CYIERA 12 AXIQ AYITE 62IR2IN | YBAQ FIREIQ FIEF AgA AEA
AQOIQ 2@ J98E RA11 GIeFl RQT QU6 629IQ 2IQ IR I8 QRS 628 I2IQ §R6R 29I 6RIaR Aae 1Y
Qg Q12@ g6 @d 6] 61 6RIRAIg 6AIFRIR G A QF *R2IF | 12l 964 Aigiea F8 f1g QIRRINI| AR saId
J06Q goueIq @6 ARQI I9° GIEl fR1Q JRARIA FAQIR Qg 2IREIRI QR | Y@ QERENg JRs 889! AR,
QRS AARIA “PAIF Gl66" 6dIgIA IFER IR QTP 2107 @AY | I8 ITI9AA g6y Fa, 6208 J649R
JREIRAI, R1Q YNICIR IAYR *AQI, RR18QE, AQATER RIS I ARSI |

GIEFIRQ1 QIQI 6100 ClIEEFS, AAER 1R AQ0IQ QE ArIQ 661G |
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2) ogeQ
3) @1eg
4) argee

Correct Answer: 3) @1QQ

Candidate Answer: 1) Q9Q

QID : 3660 - A¢J6Q QAR AP ARG B AR R2AAIRYII IFQ AAA F2Y | AAGER A AV ERIRAINS
IR GIEF fQ1 9@ AQ0IQ ARG RQ1 266 | 11 FIFI B 6091 Q6d R *AITIRAIN | QI 648 AY AY ARG
IR AR IR R19R 66l 266 6ALAIER 630 QIY QIR Y21 QU6R ALQ @R2IF | gRIFE QI8 ZIRIRER G
Q1] QIR RO14 AQOIQ QP RR1I I ARER AQOIQ Q1LEA RR11 CIEF AQ1Q AIFQ QUGN FREAOR,
AQ2R I° AR UAQI Ui *AUIRRIN | GI6FI Q1 QIR BFE 6k @F QIR AQ0IQ QTR QA FRIQ 2ARYEF | 1@
RIQEIQ @R2ia QIK, 10% 6RIRACEHI YOIER QEY I9° R196I AFI2 @RI | GIEFIg AIREER AQ0IQ 2R/S e
RAIAN | Bg FRYRI 921 60 AQ0IQ 2P IR AIRRR! A1 62IRRIR! A6Q Y21 AQOIQ AAAYIQ 2166 | 926 JQQ
ALAQ QERYIG I9° AL 2GR QIR QYIS CYIERR 12 AXIQ AYITE 62IREIN | YBAQ FIREIQ FIEH AgR AEA
AQO0IQ 2@ J9TE RA11 CIsFl RQ1 QU6 629IQ 2R IR Jg6 QRS 6208 I2IQ @R6R 29I 6RIan Aae AIGIQ
qi6L AI21E g6 @d 6] 6] 6RIRAIG 6AIFaIR G AIGE 9§ FRRIF 1 921 oc Aigiea F8 RQ1g AIRRINI AR SIRIT
g06a gQueIg @F @QQI 9e° GIEH RQ1Q JASRNIA AR Qag IR0 Q88 | I8 QR4 4o @aQ! AIR,
QRS AQRIQ “PAIF Gl66" 6JIGIA RIFER IR QIJI9A 2I0A @AY | I8 AITI9AA ¢6l A, 6208 J649R
JReIRR, AA1Q YNITR JAFIQ KRR, RIS, AQATER FRIE I° RRAEEEREI |

OIEPl 9@1 9980, Ye° QaId 9 vl .
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Options:
1) 4@
2) Q80

3) 6300 2IQEIROI JRE F6Q
4) OC1QI 66IRIR

Correct Answer: 1) J&0¢

Candidate Answer: 3) 630@ 2IQEHR0! Q8 R6Q

Techofworld.In

QID : 3661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

Diksha had been/ in a grumpy mood/ from she woke up.
Options:

1) Diksha had been

2) in a grumpy mood

3) from she woke up
4) No Error

Correct Answer: 3) from she woke up

Candidate Answer: 3) from she woke up

QID : 3662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Manish was (very excite) about the trip.
Options:

1) very excited

2) very exciting

3) excite
4) No correction required

Correct Answer: 1) very excited



